Kansas Register

Kris W. Kobach, Secretary of State

Vol. 30, No. 38 September 22, 2011	Pages 1297-1326
this issue	Page
Legislative interim committee schedule	1298
Kansas Department of Agriculture Notice of State Board of Agriculture meeting Notice of Animal Health Board meeting	
Kansas Housing Resources Corporation Notice of hearing on the 2012 Housing Tax Credit Program	1299
Department of Administration—Procurement and Contracts Notice to bidders for state purchases	1299
City of Wichita Notice to bidders	1299
Board of Emergency Medical Services Notice of meetings	1300
Kansas Public Employees Retirement System Request for proposals for deferred compensation plan and investment consulting s	
Kansas Department of Transportation Notice to consulting engineers Notice to contractors	
City of Lenexa Notice to bidders	1303
Secretary of State Notice of corporations forfeited	1304
Kansas Board of Regents Universities Notice to bidders	1304
Kansas Development Finance Authority Notice of hearing on proposed revenue bonds	1305
Pooled Money Investment Board Notice of investment rates	
Department of Health and Environment Requests for comments on proposed air quality permits Notice concerning water pollution control permits/applications	
Temporary Administrative Regulations Kansas Lottery	
Index to administrative regulations	

State of Kansas

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet during the period of September 27-October 5, based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at (785) 296-2391 or TTY 711, or e-mail LegServ@las.ks.gov. The 2011 interim committee memberships and committee agendas can be found at http://skyways.lib.ks.us/ksleg/KLRD/.html.

Date	Room	Time	Committee	Agenda
Sept. 27	548-S	9:30 a.m.	Special Committee on Financial Institutions & Insurance	Uninsured motorists; fingerprinting; criminal history record checks.
Sept. 27	152-S	9:00 a.m.	Legislative Post Audit	Completed performance audits; follow- up report for calendar year 2010; performance audit topics; Legislative Post Audit operations; Legislative Post Audit Committee operations; old/new business; date of next meeting.
Sept. 30	Kansas City Leavenworth	9:00 a.m. 2:00 p.m.	Special Committee on Redistricting	Redistricting public hearings.
Oct. 3 Oct. 4	TBA	TBA	Joint Committee on State Building Construction	
Oct. 5	TBA	TBA	Joint Committee on Arts and Cultural Resources	
Dog No. 020820				Jeffrey M. Russell Director of Legislative Administrative Services

Doc. No. 039820

The Kansas Register (USPS 0662-190) is an official publication of the State of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2011. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp

Published by Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 (785) 296-4564 www.sos.ks.gov



Register Office: 1st Floor, Memorial Hall (785) 296-3489 Fax (785) 368-8024 kansasregister@sos.ks.gov

Kansas Register _

State of Kansas

State of Kansas Department of Agriculture

Notice of Board Meeting

The Kansas State Board of Agriculture will meet at 6:30 p.m. Tuesday, September 27, at The Golf Club at the Southwind, 77 Grandview Drive, Garden City. A meeting agenda will be available prior to September 27 by contacting JJ Jones at (785) 296-3556. This meeting is open to the public and will include time for public comment. If special accommodations are needed, individuals should contact the Department of Agriculture, (785) 296-3556, at least three business days prior to the meeting.

Dale Rodman Secretary of Agriculture

Doc. No. 039811

State of Kansas Department of Agriculture

Notice of Animal Health Board Meeting

The Kansas Animal Health Board will meet at 6:30 p.m. Tuesday, September 27, at The Golf Club at the Southwind, 77 Grandview Drive, Garden City. A meeting agenda will be available prior to September 27 by contacting Bill Brown at (785) 296-2326. This meeting is open to the public and will include time for public comment. If special accommodations are needed, individuals should contact the Department of Agriculture, (785) 296-2326, at least three business days prior to the meeting.

> Dale Rodman Secretary of Agriculture

Doc. No. 039812

State of Kansas Kansas Housing Resources Corporation

Notice of Hearing

The Kansas Housing Resources Corporation will conduct a public hearing from 10 a.m. to noon Thursday, October 20, in the main conference room of Suite 300 of the KPERS Building, 611 S. Kansas Ave., Topeka, to provide citizens input on the Housing Tax Credit Program for 2012. The proposed plan is available for public review at http:// www.kshousingcorp.org/1forms-and-publications.aspx. Limited hard copies will be available at the hearing and upon request. The public comment period ends October 20.

Requests for special accommodations to attend the hearing should be made at least five business days in advance of the hearing by calling (785) 296-5865 or fax (785) 296-8985, or through the Kansas Relay Service at 800-766-3777.

Dennis L. Mesa Executive Director

Doc. No. 039814

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2 p.m. on the date indicated. For more information, call (785) 296-2376:

10/04/2011 EVT0000897 General Construction — On Call

The above-referenced bid documents can be down-loaded at the following website:

http://www1.da.ks.gov/purch/contracts/bids.aspx

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://da.ks.gov/purch/adds/default.htm

Information regarding prequalification, projects and bid documents can be obtained at (785) 296-8899 or http://da.ks.gov/fp/.

Chris Howe Director of Procurement and Contracts

Doc. No. 039823

(Published in the Kansas Register September 22, 2011.)

City of Wichita, Kansas

Notice to Bidders

The city of Wichita will receive bids at the Purchasing Office, 455 N. Main, 12th Floor, Wichita, 67202, until 10 a.m. Friday, October 21, for the following project:

(KDOT Project No. 87N-0243-01/472-84006/204358) (OCA Code 706892) Paving

Seneca, I-235 to 31st Street South

Requests for the bid documents and plans should be directed to City Blue Print at (316) 265-6224 or Marty Strayer at (316) 268-4488. Other questions should be directed to the respective design engineer, (316) 268-4501.

All bids received will thereafter be publicly opened, read aloud, and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the city manager and according to plans and specifications on file in the office of the city engineer. Bidders are required to enclose a bid bond in the amount of 5 percent with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Kim Pelton at (316) 268-4499 for extra sets of plans and specifications.

Marty Strayer Administrative Aide City of Wichita—Engineering

State of Kansas Board of Emergency Medical Services

Notice of Meetings

The Board of Emergency Medical Services will meet at 9 a.m. Friday, October 7, in Room 106 of the Landon State Office Building, 900 S.W. Jackson, Topeka. Meetings for the Planning and Operations Committee, the Education, Examination, Certification and Training Committee, the Executive Committee and the Investigations Committee will be held Thursday, October 6, starting at 9 a.m. at the same location. Items on the agenda for the board meeting can be found on the board's website at http://www.ksbems.org.

All meetings of the board are open to the public. For more information, contact the executive director, Room 1031, Landon State Office Building, Topeka, 66612-1228, or (785) 296-7296.

> Steven Sutton Executive Director

Doc. No. 039824

State of Kansas Public Employees Retirement System

Request for Proposals

The Kansas Public Employees Retirement System is soliciting proposals for deferred compensation (457) plan and investment consulting services for the Kansas Public Employees Deferred Compensation Plan. A copy of the RFP may be downloaded from the KPERS' website at www.kpers.org. All proposals must meet the minimum qualifications set forth within the RFP. Respondents should deliver proposals to the KPERS office by 3 p.m. October 12. Questions about the RFP should be directed in writing to Faith Loretto, Deferred Compensation Plan Manager, KPERS, 611 S. Kansas Ave., Suite 100, Topeka, 66603, or via email to FLoretto@kpers.org, not later than September 30.

> Elizabeth Miller Acting Executive Director

Doc. No. 039818

State of Kansas

Department of Transportation

Notice to Consulting Engineers

The Kansas Department of Transportation is seeking a qualified consulting engineering firm, prequalified in Category 211 – Highway Design-Major Facility, for the T-Works Expansion and Modernization Projects as listed below. An electronic letter of interest (PDF format preferred and 1MB maximum size) must be emailed to David J. Nagy, P.E., Assistant to the Bureau Chief of Design/ Contracts Engineer, at DavidN@ksdot.org. Letters of interest are limited to four pages, the subject line of the email and the PDF file name must contain the project number and the firm's name: "Project # - Firm Name," and must be received by noon September 29 for the consulting engineering firm to be considered.

Route	County	Project No.	Project Limits
K-96	Reno	KA-1007-02	K-96 from 4.45 miles southeast of Nickerson, north and west to Reno/Rice county line
K-14	Rice	KA-1007-03	K-14 (K-96) from Reno/Rice county line, north to junction K-96/RS-571
US-69	Bourbon & Crawford	KA-1553-02 & KA-1554-02	Bourbon/Crawford county line north to 2L/4L section (6.0 miles north of Crawford/ Bourbon county line) and 3 miles north of Arma north city limits, north to Crawford/ Bourbon county line
I-70	Shawnee	KA-1266-02	I-70 Polk/Quincy Viaduct and approach roadway, Topeka, Kansas
K-92	Leavenworth	KA-2411-01	K-92: from US-73/K-92 north junction, east to Missouri state line

The Consultant Shortlist Committee will select three to five of the most highly qualified firms expressing interest and schedule an individual interview. The consulting firms can more thoroughly discuss their experience related to the project at the interview and will be expected to discuss their approach to this project in detail and the personnel to be assigned to this project. Firms not selected to be short-listed will be notified. Categories may be viewed at www.ksdot.org/divengdes/prequal.

The Consultant Selection Committee, appointed by the Secretary of Transportation, will conduct the discussions with the firms invited to the individual interview conferences. The committee will select one firm to perform the professional services required for completing the advertised project. After the selection, the firms not selected will be notified of the outcome.

It is KDOT's policy to use the following criteria as the basis for selection of the consulting engineering firm:

- 1. Size and professional qualifications.
- 2. Experience of staff.
- 3. Location of firm with respect to project(s).
- 4. Work load of firm.
- 5. Firm's performance record.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support cost and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information, contact David Nagy at DavidN@ksdot.org.

Daniel L. Scherschligt, P.E., Director Division of Engineering and Design

State of Kansas Department of Transportation

Notice to Contractors

Sealed proposals for the construction of road and bridge work in the following Kansas counties will be received at the Bureau of Construction and Maintenance, KDOT, Topeka, or at the Eisenhower State Office Building, fourth floor west wing, 700 S.W. Harrison, Topeka, until 1 p.m. October 19 and then publicly opened:

District One — Northeast

Atchison—3 C-0003-01 — County road 1.5 miles north and 2 miles east of Effingham, grading, bridge and surfacing, 0.3 mile. (Federal Funds)

Atchison—3 C-0004-01 — County road 1.5 miles north and 2.1 miles east of Effingham, grading, bridge and surfacing, 0.3 mile. (Federal Funds)

Douglas—59-23 K-7888-06 — U.S. 59, 7.3 miles north of the Franklin-Douglas county line north 4.2 miles, surfacing. (Federal Funds)

Johnson—69-46 K-8251-12 — U.S. 69 from I-435 north to just north of 95th Street, seeding and sodding, 1.8 miles. (Federal Funds)

Johnson—7-46 KA-2236-01 — K-7 bridge in Johnson County located 2.3 miles north of the K-7/Santa Fe junction, bridge repair. (State Funds)

Lyon—99-56 KA-2229-01 — K-99 Cottonwood River bridge in Lyon County located 1.5 miles south of U.S. 50, bridge repair. (State Funds)

Shawnee—24-89 KA-0710-01 — U.S. 24 Bourbonais Creek bridge, 3 miles northwest of Rossville, bridge replacement. (Federal Funds)

Shawnee—24-89 KA-0711-01 — U.S. 24 Ensign Creek bridge, 2 miles west of Silver Lake, bridge replacement. (Federal Funds)

District Two — Northcentral

Cloud-Republic—106 KA-2485-01 — U.S. 81 in Republic County beginning 1.2 miles north of U.S. 36 north to 2.6 miles north of U.S. 36; U.S. 81 in Republic County beginning 1.9 miles north of U.S. 36 north to 3.1 miles north of U.S. 36; U.S. 81 in Republic County beginning 1.1 miles north of U.S. 36 north to 1.9 miles north of U.S. 36; U.S. 81 in Cloud County beginning 2.8 miles north of K-9 north to the Republic County line; U.S. 81 in Republic County beginning at the Cloud County line north 0.9 mile; U.S. 81 in Republic County beginning 1.4 miles north of the Cloud County line north 8.5 miles; U.S. 81 in Republic County beginning 2 miles south of the U.S. 36 junction north to 0.4 mile south of U.S. 36 overlay, 17.3 miles, overlay. (State Funds)

Lincoln—106 KA-2477-01 — K-18 beginning at the Russell County line east to the Ottawa County line; K-252 beginning at the junction of K-18 south to the Beverly north city limits, asphalt pavement, 32.1 miles. (State Funds)

Mitchell-Jewell—14 106 KA-2459-01 — K-14 in Mitchell County beginning at the Lincoln County line north to the south city limits of Beloit; K-14 in Mitchell County beginning at junction U.S. 24 north to the Jewell County line; K-14 in Jewell County beginning at the Mitchell-Jew-

ell county line north to the junction of U.S. 36, asphalt pavement, 39.8 miles. (State Funds)

Ottawa—18-72 KA-2480-01 — K-18 beginning at the Old U.S. 81 Highway junction east to the Dickinson County line, overlay, 14.6 miles. (State Funds)

Republic—266-79 KA-2484-01 — K-266 entire route, overlay, 7.5 miles. (State Funds)

District Three — Northwest

Decatur—36-20 KA-2498-01 — U.S. 36 beginning at the Rawlins County line east to the curb and gutter section in Oberlin, seal, 17.5 miles. (State Funds)

Gove-Trego-Sheridan—106 KA-2481-01 — K-23 in Sheridan County beginning at the Gove County line north to the Hoxie south city limits; K-23 in Gove County beginning at the south junction of K-23 north to the east junction of K-23; K-198 in Trego County beginning at the I-70 interchange north to the east city limits of Coyville; K-211 in Gove County beginning at the interchange of I-70/U.S. 40 north to the west city limits of Park; K-212 in Gove County beginning at the interchange of I-70/U.S. 40 north to the west city limits of Park; K-212 in Gove County beginning at the interchange of I-70/U.S. 40 north to the south city limits of Quinter; K-216 in Gove County beginning at the interchange of I-70/U.S. 40 north to the south city limits of Grinnell, seal, 19.8 miles. (State Funds)

Gove—32 C-4414-01 — County road 3.5 miles south and 1.3 miles west of Grainfield, grading and bridge, 0.2 mile. (Federal Funds)

Graham—24-33 KA-2195-01 — U.S. 24 from the Sheridan-Graham county line east to the east city limits of Hill City, milling and overlay. (State Funds)

Graham—33 KA-2525-01 — U.S. 283 beginning at the junction of U.S. 24 north 0.7 mile; K-85 beginning at the north city limits of Morland north to the junction of U.S. 24, milling and overlay, 1.5 miles. (State Funds)

Graham—24-33 M-0014-01 — U.S. 24, 3.5 miles east of Hill City, stockpile bituminous materials. (State Funds)

Logan—25-55 KA-2282-01 — K-25 from the north city limits of Russell Springs north to the west junction of U.S. 40/K-25, pavement reconstruction, 11.3 miles. (State Funds)

Logan—40-55 KA-2499-01 — U.S. 40 beginning at the Wallace County line east 35.8 miles, overlay. (State Funds)

Logan—40-55 M-0013-01 — U.S. 40, stockpile bituminous material. (State Funds)

Norton—36-69 KA-0739-01 — U.S. 36 beginning at the east city limits of Norton east to the junction of U.S. 36/K-383, milling and overlay, 4.4 miles. (Federal Funds)

Norton—36-69 KA-2518-01 — U.S. 36, milling and overlay, 0.8 mile. (State Funds)

Norton—383-69 KA-2528-01 — K-383 beginning at the south city limits of Clayton northeast to the west junction of U.S. 36, seal, 13.5 miles. (State Funds)

Rawlins—77 C-4285-01 — Intersection of U.S. 36 and County Route 179, then northeast 4.5 miles, surfacing. (State Funds)

Sheridan-Thomas—106 KA-2506-01 — U.S. 24 in Sheridan County beginning at the Thomas County line east to the Graham County line; K-188 in Sheridan County beginning at Sequin north to the junction of U.S. 24; K-(continued) 186 in Sheridan County beginning at the Menola north city limits north to the junction of U.S. 24; U.S. 24 in Thomas County beginning at the junction of U.S. 83 east to the Sheridan County line, overlay, 43.5 miles. (State Funds)

Sherman—27-91 KA-2511-01 — K-27 beginning at the Wallace County line north 13.4 miles, seal. (State Funds)

Thomas—25-97 KA-0693-01 — K-25 north fork Solomon River bridge, 3 miles south of Colby, bridge replacement. (Federal Funds)

District Four — Southeast

Crawford—19 C-4221-01 — County road 6 miles south and 1.3 miles west of Girard, grading and bridge, 0.1 mile. (Federal Funds)

Franklin—68-30 KA-2241-01 — K-68 bridge located 10.9 miles east of the Osage County line, bridge repair. (State Funds)

Montgomery—63 C-4545-01 — County road 2 miles south and 1.2 miles west of the Coffeyville Airport, grading and bridge, 0.2 mile. (Federal Funds)

Montgomery—160-63 KA-2242-01 — U.S. 160 bridge located 5.4 miles east of the east junction of U.S. 75, bridge repair. (State Funds)

Woodson—104 C-4010-01 — County road 1.1 miles north and 3 miles west of the U.S. 75/U.S. 54 junction, grading, bridge and surfacing, 0.2 mile. (State Funds)

District Five — Southcentral

Barton-Pawnee—56-106 - KA-2543-01 — U.S. 56 in Barton County beginning at the Pawnee County line east to the east city limits of Pawnee Rock; U.S. 56 in Pawnee County beginning at the east city limits of Larned east to the Barton County line, overlay, 8.1 miles. (State Funds)

Butler—8 C-0067-01 — Railroad crossing consolidation at Southwest Boyer Road and S.W. 55th Street, grading and surfacing. (Federal Funds)

Edwards-Kiowa-Comanche—183-106 KA-2562-01 — U.S. 183 in Edwards County beginning at the Kiowa County line north to the junction of U.S. 56; U.S. 183 in Kiowa County beginning at Comanche County line north to the Edwards County line; U.S. 183 in Comanche County beginning at the junction of U.S. 160 north to the Kiowa County line, overlay, 48.4 miles. (State Funds)

Pratt—54-76 K-8243-06 — U.S. 54, 1 mile east of the Cairo intersection east to the Pratt-Kingman County line, seeding and sodding, 4 miles. (Federal Funds)

Pratt-Stafford—106 KA-2549-01 — U.S. 281 in Pratt County beginning at the north city limits of Luka north to the Stafford County line; U.S. 281 in Stafford County beginning at the Pratt County line north to the junction of U.S. 50; U.S. 50 in Stafford County beginning at the junction of U.S. 281 east to the Reno County line, overlay, 30.8 miles. (State Funds)

Rice—80 KA-2566-01 — U.S. 56 beginning at the east city limits of Lyons east to the McPherson County line; K-46 beginning at the junction of U.S. 56 north 1.5 miles, overlay 15.8 miles. (State Funds)

Reno—96-78 KA-2556-01 — K-96 beginning at the west city limits of Nickerson east to the K-96 bypass, overlay, 4.9 miles. (State Funds)

Stafford—281- 93 KA-2542-01 — U.S. 281 beginning at the junction of K-19 north to the Barton County line, overlay, 7.1 miles. (State Funds)

Sumner—96 C-4497-01 — County road 1 mile north and 2.1 miles east of Milton, bridge repair, 0.1 mile. (Federal Funds)

District Six — Southwest

Haskell—56-41 KA-2243-01 — U.S. 56 bridge located 0.6 mile northeast of the Seward county line, bridge repair. (State Funds)

Kearny—25-47 KA-2577-01 — K-25 beginning at the Grant County line north to the south city limits of Lakin, overlay, 16.1 miles. (State Funds)

Meade—23-60 KA-0691-02 — Cimarron River bridge on K-23 beginning at the Kansas-Oklahoma state line north 1.3 miles, seeding and sodding. (Federal Funds)

Morton—27-65 KA-2575-01 — K-27 beginning at the south junction of K-51 north to the north junction of K-51 at Richfield, asphalt pavement, 14.4 miles. (State Funds)

Seward—54-88 KA-2244-01 — U.S. 54 bridge located 12.7 miles northeast of U.S. 83, bridge repair. (State Funds)

Scott—96-86 KA-2582-01 — K-96 east to the Lane County line, recycle and overlay, 11.8 miles. (State Funds)

Scott—96-86 M-0016-01 — K-96 mixing strip located two miles east of Scott City, stockpile bituminous materials. (State Funds)

Scott—83-86 M-0017-01 — U.S. 83 mixing strip located 9 miles north of Scott City, stockpile bituminous materials. (State Funds)

Wichita—25-102 KA-2578-01 — K-25 from "I" Street in Leoti north to the Logan County line, overlay, 15.2 miles. (State Funds)

Each bidder shall file a sworn statement executed by or on behalf of the person, firm, association or corporation submitting the bid, certifying that such person, firm, association or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This sworn statement shall be in the form of an affidavit executed and sworn to by the bidder before a person who is authorized by the laws of the state to administer oaths. The required form of affidavit will be provided by the state to each prospective bidder. Failure to submit the sworn statement as part of the bid approval package will make the bid nonresponsive and not eligible for award consideration.

Plans and specifications for the projects may be examined at the office of the respective county clerk or at the KDOT district office responsible for the work.

> Deb Miller Secretary of Transportation

on

(Published in the Kansas Register September 22, 2011.)

City of Lenexa, Kansas

Notice to Bidders

Separate, sealed bids for 79th and Lackman Road Traffic Signalization and Lackman Tributary Stormwater Improvements will be accepted by the city of Lenexa, Kansas, at the Community Development Department, Lenexa City Hall, 12350 W. 87th St. Parkway, Lenexa, 66215, until 1 p.m. October 6, 2011, at which time bids will be publicly opened and read aloud at the Lenexa City Hall. Any bid received after the designated closing time will not be considered and will be returned unopened.

This bid opening consists of two separate contract lettings, which shall be read individually but will be awarded to the lowest, qualified, combined bid. Bids submitted on only one project will not be considered.

Bidders desiring to bid on the two projects shall submit bid documents to the Community Development Department customer service staff (main level) in separate sealed envelopes addressed to the City of Lenexa, Kansas, Attention: City Clerk. One envelope shall contain the bid for the 79th and Lackman Road Traffic Signalization and shall be marked "Bid For: 79th & Lackman Road Traffic Signalization." The second envelope shall contain the bid for the Lackman Tributary Stormwater Improvements and shall be marked "Bid For: Lackman Tributary Stormwater Improvements."

Copies of plans, specifications, bidding documents and other contract documents are on file at Drexel Technologies, Inc., 10840 W. 86th St., Lenexa, 66214.

Bidders desiring contract documents for use in preparing bids may obtain a set of such documents at the address above. Plans and specifications may be downloaded from the Drexel Technologies, Inc. website at http://planroom.drexeltech.com/.

Note: Davis Bacon wage rates apply to the 79th and Lackman Road Traffic Signalization Project only.

Each bidder will be responsible for ensuring that it has received any and all addenda issued by the city for both projects in accordance with IB-10 of the instructions to bidders.

Contractors should read and be fully familiar with all contract documents including addenda before submitting a bid. In submitting a bid, the bidder warrants that it has read the contract documents and is fully familiar therewith and that it has visited the site of the work to fully inform itself as to all existing conditions and limitations, and shall include in its bid a sum to cover the cost of all items of the work as specified in the contract documents.

No oral, telegraphic, telephonic proposals or alterations will be considered. Facsimile transmissions will not be accepted.

The following items must be included in the sealed envelope with each bid:

- a. Bid form;
- b. 5% bid security-bid bond, cashier's check or certified check (see below); and
- c. Acknowledgment of addenda issued by city.
- d. Federal contract provisions I through IV:
 - 08-10-66-R05(LPA) Certification-Noncollusion I. & History of Debarment

II.	04-26-90-R04(LPA)	Declaration-Limitations of
		Use of Federal Funds for
		Lobbying
III.	07-19-80-R12(LPA)	DBE Contract Goal
IV.	01-01-11(LPA)	Tax Clearance Certificate

Note: Item d applies to the 79th and Lackman Road Traffic Signalization Project only.

Each bidder shall file with its separate bid for 79th and Lackman Road Traffic Signalization and Lackman Tributary Stormwater Improvements a bid bond, a cashier's check or a certified check drawn on an acceptable bank, made payable to city of Lenexa, Kansas, in an amount equal to 5 percent of the total bid for each project, which shall be retained by city of Lenexa until a contract for the project has been executed. Bid bonds will be returned to the bidders, with the exception of the best and lowest and second best and second lowest responsible bidders, within 21 days after their bids are rejected. The bid deposit of the lowest and the second lowest responsible bidders will be returned when the performance bond, maintenance bond and statutory bond, each in an amount equal to 100 percent of the contract amount, required insurance certificates and other required documents shall have been furnished and the contract documents have been executed by the successful bidder.

In the event the low bidder is unable to execute the contracts for each project, for whatever reason, within the time provided in the notice of award, the city may annul the notice of award and the bid deposit may be forfeited, and city shall exercise its legal prerogatives, including, but not limited to, enforcement of its rights as to the bid security or specific performance.

The city reserves the right to accept or reject any and all bids and to waive any technicalities or irregularities therein. Bids may be modified or withdrawn by written request of the bidder received in the office of the city clerk prior to the time and date for bid opening.

From and after the release of this notice, any party intending to bid on the above-referenced projects—including its officers, employees, agents or contractorsis specifically prohibited from communicating with any elected or appointed official of the city, directly or indirectly, with regard to the award of the contract for the projects listed above, except as specifically authorized by the instructions to bidders. Any such unauthorized communication may result in the automatic disqualification of such bidder.

All bidders agree that rejection shall create no liability on the part of city because of such rejection, and the filing of any bid in response to this notice shall constitute an agreement of the bidder to these conditions.

A mandatory pre-bid conference will be held at 2 p.m. September 29 in the Executive Conference Room, upper level, Lenexa City Hall.

> David F. Bryant III, City Clerk City of Lenexa, Kansas

State of Kansas

Secretary of State

Notice of Corporations Forfeited

In accordance with K.S.A. 17-7510, the articles of incorporation of the following corporations organized under the laws of Kansas and the authority of the following foreign corporations authorized to do business in Kansas were forfeited during the month of August 2011 for failure to timely file an annual report and pay the annual report fee as required by the Kansas general corporation code:

Domestic Corporations

All in One Cleaning Co., Lawrence, KS Beholder Corporation, Clearwater, KS Bodnar & Bodnar Financial Corp, Wichita, KS Carpetrus Inc., Wichita, KS Central States Auction Inc., Perry, KS City Floors, Inc., Overland Park, KS Claim Services & Recovery Inc., Olathe, KS Cole's Farm LLC, La Cygne, KS Elmores Body Shop Inc., Paola, KS Great Lanes Resurfacing, Inc., Las Vegas, NV Hi Tek Innovations Inc., Wichita, KS High Performance Drywall Ltd., Andover, KS Homeland Health Agency, Inc., Wichita, KS HTI Inc., Cawker City, KS Idelco LLC, Wichita, KS Ingenious Inc., Shawnee, KS Inter-Banc Consultants, Inc., Topeka, KS Iplum Wireless, Inc., Wichita, KS Jesuswifeonenesschurch.church/ hydrogenphuel.com.incorporated, Old Fort, NC Johnson Cattle Company, Centerville, KS Kansas City Sports Marketing Inc., Overland Park, KS Kellman, Inc., Lenexa, KS Korean Church of Manhattan, Inc., Manhattan, KS Ks. Trading Company, Lawrence, KS LND Computers Inc., Wichita, KS Logo Lighthouse, Inc., Overland Park, KS Mitzner Brothers, Inc., Buhler, KS Paradise Pearl, LLC, San Clemente, CA Phillip Collins and Son, Inc., Winona, KS Poppy Floral Inc., Mission, KS R.W. Farms, Inc., WaKeeney, KS Rapelye, Inc., Overland Park KS SCSI Inc., Topeka, KS TC Industries, Inc., Kansas City, KS The Danrich Co., Goodland, KS Topeka Insulation & Supply Co., Inc., Topeka, KS Unique Innovations, Incorporated, Wichita, KS Vet-Vax, Inc., Tonganoxie, KS Visionary Management, L.L.C., Lawrence, KS Winter Furniture Co., Inc., Emporia, KS XK Solutions Inc., Overland Park, KS

Foreign Corporations

BCBG Max Azria Group, Inc., Vernon, CA Chaffin Tower Services, Inc., Hulbert, OK Control Assemblies Company, Minneapolis, MN Cooper Communications Group, Inc., Garden City, NY George S. May International Company, Park Ridge, IL King Land & Cattle Co., Inc., Goodland, KS Marco Promotional Management Inc., Topeka, KS Max Rave, LLC, Vernon, CA Outlet Division Store Co., Inc., Bensalem, PA Premier Salons, Inc., Markham, Ontario Robert Shor Insurance Associates, Inc., Pacific Palisades, CA Spectra Premium (USA) Corp., Boucherville, Quebec Susquehanna Oil Company N.V., Zurich, Switzerland The Washington Consulting Group, Incorporated, Bethesda, MD Trade Secret Beauty Stores Inc., Markham, Ontario Trade Secret Exclusive Stores Inc., Markham, Ontario Trade Secret Luxury Stores Inc., Markham, Ontario Trade Secret, Inc., Markham, Ontario Westower Communications Inc., Orlando, FL ZWZ, LLC, Parker, CO

> Kris W. Kobach Secretary of State

Doc. No. 039796

State of Kansas Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: www.emporia.edu/ busaff/. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: thouse@emporia.edu. Mailing address: Emporia State University, Controller's Office/Purchasing, Campus Box 4021, 1200 Commercial, Emporia, KS 66801.

Fort Hays State University – Bid postings: www.fhsu.edu/bids. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

Kansas State University – Bid postings: www.k-state.edu/purchasing/rfq. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

Pittsburg State University – Bid postings: www.pittstate.edu/ office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: jensch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas – Electronic bid postings: http:// www.purchasing.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 30, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: http:// www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: www.wichita.edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-

Kansas Register ____

978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

> Carla K. Bishop Chair of Regents Purchasing Group Director of Purchasing Kansas State University

Doc. No. 039551

State of Kansas **Kansas Development Finance Authority**

Notice of Hearing

A public hearing will be conducted at 9 a.m. Thursday, October 6, in the offices of the Kansas Development Finance Authority, 555 S. Kansas Ave., Suite 202, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

Project No. 000820-Maximum Principal Amount: \$53,600. Owner/Operator: Justin K. and Joan L. Holdeman. Description: Acquisition of 36 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes. The project is being financed by the lender for Justin K. and Joan L. Holdeman and is located at the South Half of the Northeast Quarter of Section 18, Township 23, Range 1 West, Harvey County, Kansas, approximately 6 miles west of Newton from Meridian Road on N.W. 12th Street to Essex Heights then .25 mile south on the east side of the road.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 555 S. Kansas Ave., Suite 202, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

> Tim Shallenburger President

State of Kansas **Pooled Money Investment Board**

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2010 Supp. 12-1675(b)(c)(d) and K.S.A. 2010 Supp. 12-1675a(g).

Effective 9-19-11 through 9-25-11		
Term	Rate	
1-89 days	0.09%	
3 months	0.01%	
6 months	0.04%	
1 year	0.08%	
18 months	0.13%	
2 years	0.18%	
	Se	

Scott Miller Director of Investments

Doc. No. 039810

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Plumb Thicket Landfill has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et seq. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Waste Connections of Kansas, Inc., 4300 W. 37th St. North, Wichita, owns and operates the Plumb Thicket Landfill, a solid waste landfill located at 440 N.E. 150th Road, Harper.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for a 30-day public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE South Central District Office, 130 S. Market, Suite 6050, Wichita. To obtain or review the proposed permit and supporting documentation, contact Jessica Webb, (785) 296-1578, at the KDHE central office; and to review the proposed permit only, contact David Butler, (316) 337-6042, at the KDHE South Central District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Jessica Webb, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received before the close of business October 24.

(continued)

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cindy Moon, Bureau of Air, not later than the close of business October 24 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Patricia Scott, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 901 N. 5th St., Kansas City, KS 66101, (913) 551-7312, to determine when the 45day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 039816

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. ICL Performance Products, LP has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et seq. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

ICL Performance Products, LP, 622 Emerson Road, Suite 500, St. Louis, Missouri, owns and operates an inorganic chemical plant located at 440 N. 9th St., Lawrence, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for a 30-day public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE Northeast District Office, 800 W. 24th St., Lawrence. To obtain or review the proposed permit and supporting documentation, contact Susan C. Pjesky, (785) 296-1691, at the KDHE central office; and to review the proposed permit only, contact Pat Simpson, (785) 842-4600, at the KDHE Northeast District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Susan C. Pjesky, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received before the close of business October 24.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Sharon Burrell, Bureau of Air, not later than the close of business October 24 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Patricia Scott, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 901 N. 5th St., Kansas City, KS 66101, (913) 551-7312, to determine when the 45day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 039817

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 15, 28-18a-1 through 32, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-11-179/183 Pending Permits for Confined Feeding Facilities

0		0
Name and Address	Legal	Receiving
of Applicant	Description	Water
Tom Meder	SE/4 of Section 24,	Smoky Hill River
323 Pfeifer Ave.	T15S, R17W, Ellis	Basin
Pfeifer, KS 67660	County	
Kansas Permit No. A-SHEL-M	v1008	

This is a new permit for an existing facility with the maximum capacity of 150 head (210 animal units) of mature dairy cows, 150 head (75 animal units) of dairy cattle weighing 700 pounds or less and 30 head (30 animal units) of dairy cattle weighing greater than 700 pounds, for a total of 315 animal units of dairy cattle. Proposed modifications include the construction of a concrete manure storage structure, three diversions, a settling basin and an earthen retention structure. The existing retention structure will be decommissioned.

Name and Address of Applicant	Legal Description	Receiving Water
Nemaha Valley Holstein	SE/4 of Section 10 &	Missouri River
Farm	SW/4 of Section 11,	Basin
Mike, Doug & Harry	T02S, R12E,	
Gudenkauf	Nemaha County	
2334 State Highway 63		
Seneca, KS 66538		

Kansas Permit No. A-MONM-M020

This is a permit modification and reissuance for an existing facility with a maximum capacity of 150 head (210 animal units) of mature dairy cows, 80 head (40 animal units) of dairy cattle weighing 700 pounds or less and 30 head (30 animal units) of dairy cattle weighing greater than 700 pounds, for a total of 280 animal units of dairy cattle. Parlor wastewater is stored in an earthen retention structure. Surface runoff flows across grass buffer areas. Proposed improvements to the facility include modifications made to two grass buffer areas.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Roth Farms - Richter Unit	SE/4 of Section 11,	Lower Republican
Ron Roth	T08S, R04E, Riley	River Basin
10975 Lasita Road Leonardville, KS 66449	County	

Kansas Permit No. A-LRRL-S001

This is a permit modification and reissuance for an existing swine facility with the maximum capacity of 676 head (270.4 animal units) of swine weighing greater than 55 pounds and 1,000 head (100 animal units) of swine weighing 55 pounds or less, for a total of 370.4 animal units of swine. Wastewater is collected by two earthen retention control structures. Modifications to the permit include the addition of a composting area.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Solomon Valley Feeders, LLC Joseph W. Ludwig P.O. Box 89 Beloit, KS 67420	S/2 of Section 17 & N/2 & SE/4 of Section 20, T07S, R06W, Mitchell County	Solomon River Basin

Kansas Permit No. A-SOMC-C001 Federal Permit No. KS0053511 This is a permit modification and reissuance for an existing livestock facility with a maximum capacity of 14,500 head (14,500 animal units) of cattle weighing greater than 700 pounds, 6,980 head (3,490 animal units) of cattle weighing 700 pounds or less and 5 head (10 animal units) of horses, for a total of 18,000 animal units of livestock. Wastewater is collected by five earthen retention structures. This facility has an approved Nutrient Management Plan on file with KDHÉ.

Name and Address of Applicant	Legal Description	Receiving Water
JBS Five Rivers Cattle Feeding dba Grant County Feeders	All of Section 28 & N/2 of Section 33, T29S, R38W, Grant	Cimarron River Basin
Tom McDonald P.O. Box 1087 Ulysses, KS 67880	County	
Kansas Permit No. A-CIGT-C	2001 Federal Pe	rmit No. KS0037702
This is a permit modification		

tock facility with the maximum capacity of 140,000 head (140,000 animal units) of cattle weighing greater than 700 pounds. The facility consists of 423.8 acres of confinement lots, 274.7 acres of extraneous area, four sediment basins, and six retention control structures. Proposed modifications include the construction of an earthen spillway in Pond 5. There is no change in the permitted animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before October 22 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-11-179/183) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the Secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

> Robert Moser, M.D. Secretary of Health and Environment

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3117. "Bonus Crossword" instant ticket lottery game number 393. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Bonus Crossword" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3117.

(b) The "play symbols" for this game are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q - R - S - T - U - V - W - X - Y - Z. There are no "play symbol captions" in this game.

(c) For this game, a play symbol shall appear in each of 18 play spots within the "YOUR LETTERS" play area, in each of two play spots within the "BONUS" play area, and a variable number of times within the crossword puzzle grid.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free ticket
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(g) "Bonus Crossword" consists of three play areas. In the upper part of the ticket there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LETTERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. To the right of the "YOUR LETTERS" play area is the "BONUS" play area in which there are two letters covered by opaque latex. Imaged around each of the 18 "YOUR LETTERS" and two "BONUS" letters there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" and "BONUS" play areas one letter at a time, and then for each matching letter in the crossword puzzle grid scratch off the transparent latex. Each letter revealed in the "YOUR LETTERS" and "BO-NUS" play areas may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least three complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend. The prize legend on the front of the ticket indicates prizes won for number of words revealed, as is also set forth in subsection (k) hereinafter.

(h) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

(1) must contain at least three letters;

(2) cannot be formed diagonally, run right to left or from bottom to top;

(3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;

(4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;

(5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," or "BONUS" areas and be included to form a word; and

(6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "Bonus Crossword."

(i) Each ticket in this game may win up to one time. Only the highest prize won on each ticket will be awarded.

(j) Approximately 7,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(k) The expected number and value of instant prizes in this game shall be as follows:

Match	Prizes	Expected Number of Prizes in Game	Expected Value in Game
3 - words	FREE TICKET	1,200,000	\$0
4 - words	\$5	312,000	1,560,000
5 - words	\$10	165,600	1,656,000
6 - words	\$20	55,200	1,104,000
7 - words	\$100	7,200	720,000
8 - words	\$500	1,104	552,000
9 - words	\$2,000	264	528,000
10 - words	\$20,000	48	960,000
TOTAL		1,741,416	\$7,080,000

(l) The odds of winning a prize in this game are approximately one in 4.13. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3118. "Peng-Win Bingo" instant ticket lottery game number 394. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Peng-Win Bingo" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3118.

(b) The "play symbols" for the four bingo "CARD" play areas for this game are as follows:

			-							
01	02	03	04	05	06	07	08	09	10	
11	12	13	14	15	16	17	18	19	20	
21	22	23	24	25	26	27	28	29	30	
31	32	33	34	35	36	37	38	39	40	
41	42	43	44	45	46	47	48	49	50	
51	52	53	54	55	56	57	58	59	60	
61	62	63	64	65	66	67	68	69	70	
71	72	73	74	75	FRI	EΕ	Sym	bol c	of a G	IFT

In the "CALLER'S CARD" play area, a letter/number combination game symbol appears in each of the 24 play spots. In the "BONUS NUMBERS" play area, a letter/ combination game symbol appears in each of the six play spots. "Play symbols" for the "CALLER'S CARD," and the "BONUS NUMBERS" play areas for this instant game are the following:

	0			
B01	I16	N31	G46	O61
B02	I17	N32	G47	O62
B03	I18	N33	G48	O63
B04	I19	N34	G49	O64
B05	I20	N35	G50	O65
B06	I21	N36	G51	O66
B07	I22	N37	G52	O67
B08	I23	N38	G53	O68
B09	I24	N39	G54	O69
B10	I25	N40	G55	O70
B11	I26	N41	G56	O71
B12	I27	N42	G57	O72
B13	I28	N43	G58	O73
B14	I29	N44	G59	O74
B15	I30	N45	G60	O75

(c) There are no "play symbol captions" for this game. (d) The ticket numbers in each book of tickets in this

game shall start with 000 and end with 149.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TWO	=	\$2.00
FOR	=	\$4.00
FIV	=	\$5.00
SEV	=	\$7.00
NIN	=	\$9.00
TEN	=	\$10.00
FTN	=	\$15.00
NTN	=	\$19.00
TWY	=	\$20.00
FTY	=	\$50.00
STF	=	\$75.00
HUN	=	\$100.00
HFY	=	\$150.00
THN	=	\$200.00
THY	=	\$250.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(g) "Peng-Win Bingo" is a two-part vertically oriented game. The first part consists of the "CALLER'S CARD" and the "BONUS NUMBERS." The "CALLER'S CARD" contains 24 draw numbers covered by opaque latex. The "BONUS NUMBERS" consist of six draw numbers covered by opaque latex.

The second part consists of four "GAME CARDS" each containing 23 numbers, a "FREE" space in the center of each card, and a "GIFT" symbol, for a total of 25 squares. The "GAME CARDS" are each covered by translucent orange scratch-off.

A player removes the scratch-off material from the areas on the ticket indicated by the words "CALLER'S CARD" and "BONUS NUMBERS" to reveal a total of 30 draw numbers. A player wins by matching the "CALLER'S CARD" and "BONUS NUMBERS" to the numbers on the four "GAME CARDS." If the player finds a diagonal, vertical, or horizontal straight line, or four corners of the grid, or an "X" pattern, the player wins a prize according to the prize legend beside the respective "GAME CARD."

1309

A "GIFT" symbol will appear at random in each of the four "GAME CARDS." The "GIFT" symbol will act as a "FREE" space, and if the "GIFT" symbol is included in any winning pattern, the corresponding prize is doubled.

(h) Each ticket in this game may win up to four times. Only one prize may be claimed on each of the four "GAME CARDS."

(i) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

0		Expected Number of Prizes	Expected Value in
	Prizes	in Game	Game
Line - Card 1	\$2	15,400	\$ 30,800
Line - Card 2	\$2	15,270	30,540
Line - Cards 1 & 2	\$4	8,500	34,000
Line - Card 1 (DBL)	\$4	8,500	34,000
Line - Card 2 (DBL)	\$4	8,500	34,000
Line - Card 3	\$5	4,400	22,000
Line - Cards 2 & 3	\$7	4,500	31,500
Line - Cards 1 & 2 & 3	\$9	1,400	12,600
Line - Card 4	\$10	800	8,000
Line - Card 3 (DBL)	\$10	800	8,000
Line - Cards 3 & 4	\$15	650	9,750
Line - Cards 1 & 2 & 3 & 4	\$19	500	9,500
4 Corners - Card 1	\$20	250	5,000
Line - Card 4 (DBL)	\$20	500	10,000
4 Corners - Card 2	\$50	100	5,000
4 Corners - Cards 1 & 2,			
Line - Card 3	\$75	50	3,750
X - Card 1	\$100	18	1,800
4 Corners - Card 3	\$100	27	2,700
4 Corners - Card 4	\$100	27	2,700
4 Corners - Cards 2 & 3	\$150	15	2,250
4 Corners - Cards 2 & 4	\$150	15	2,250
4 Corners - Cards 3 & 4	\$200	18	3,600
4 Corners - Cards 2 & 3 & 4	\$250	9	2,250
X - Card 2	\$500	6	3,000
X - Card 3	\$1,000	5	5,000
X - Card 4	\$10,000	4	40,000
Tech the Halls Promotion	*\$10,978		*10,978
TOTAL		70,264	\$364,968

(DBL) - denotes doubler feature

* Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 4.27. (Authorized by K.S.A. 2010 Supp. 74-8710, implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3119. "Jolly Elf Crossword" instant ticket lottery game number 395. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Jolly Elf Crossword" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3119.

(b) The "play symbols" for this game are as follows:

(continued)

Play Symbols

y Symbols	
А	
В	
С	
D	
B C D E F	
F	
G	
Н	
Ι	
J	
K	
L	
M	
N	
D	
P	
Q P	
S	
<u>З</u> Т	
I	
N O P Q R S T U V W	
Ŵ	
x	
X Y	
Ż	
-	

(c) For this game, a play symbol shall appear in each of a variable number of play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

(f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(g) "Jolly Elf Crossword" consists of three play areas. In the upper part of the ticket there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LETTERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. To the right of the "YOUR LETTERS" play area is the "BONUS" play area in which there are two letters covered by latex. Imaged around each of the 18 "YOUR LETTERS" and two "BO-NUS" letters there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" and "BONUS" play areas one letter at a time, and then for each matching letter in the crossword puzzle grid scratch off the transparent latex. Each letter revealed in the "YOUR LETTERS" and "BONUS" play areas may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least three complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend. The prize legend on the front of the ticket indicates prizes won for number of words revealed, as is also set forth in subsection (k) hereinafter.

(h) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

(1) must contain at least three letters;

(2) cannot be formed diagonally, run right to left or from bottom to top;

(3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;

(4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;

(5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," or "BONUS" areas and be included to form a word; and

(6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "Jolly Elf Crossword."

(i) Each ticket in this game may win up to one time. Only the highest prize won on each ticket will be awarded.

(j) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(k) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value in
	Prize	Prizes in Game	Game
Free Ticket	Free Ticket	100,000	\$0
\$5	\$5	26,000	130,000
\$10	\$10	14,000	140,000
\$20	\$20	4,562	91,240
\$100	\$100	518	51,800
\$500	\$500	92	46,000
\$2,000	\$2,000	20	40,000
\$20,000	\$20,000	4	80,000
Tech the Halls Promotion	*\$10,978		*10,978
TOTAL		145,196	\$590,018

*Prize amounts for "Tech the Halls" promotion are approximate.

(l) The odds of winning a prize in this game are approximately one in 4.13. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3120. "Classic Black" instant ticket lottery game number 403. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Classic Black" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3120.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE

13	11

02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 29 30 31 32 33 34 35 10X Symbol of a star MAYBE NEXT TIME	TWO THR FOR FIV SIX SEV EGT NIN TEN ELV TWV TRN FRN FTN SXTN SVTN EGTN NTN TWTY TWYONE TWYTWO TWYTHR TWYFOR TWYFIV TWYFOR TWYFIV TWYSIX TWYSEV TWYSIX TWYSEV TWYSIX TWYSIX TWYSEV TWYSIX TWYSIX THRONE THRTWO THRTHR THRFOR THRFIV 10TIMES WIN
GOOD LUCK	
Prize Symbols 10.00 15:00 20:00 25:00 50:00 75:00 \$100 \$500 \$1000 \$10000 \$75000	Captions TEN\$ FIFTEEN TWENTY TWEN-FIV FIFTY SVTYFIV ONE-HUN FIVE-HUN ONETHOU 10-THOU 75-THOU

(c) For this game, a play symbol shall appear in each of 57 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TEN = \$10.00

\$15.00 FTN = TWY = \$20.00 TWF = \$25.00 FTY \$50.00 = STF = \$75.00 HUN = \$100.00 FHN = \$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(g) "Classic Black" has three play areas. Play area 1 is a key number match game. A player will scratch the game play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "YOUR NUMBERS" to any "WINNING NUMBER," the player wins the prize shown below that number. If the player reveals a "STAR" symbol, the player wins that prize shown automatically. If the player reveals a "10X" symbol, the player can win up to 25 times in this play area.

Play areas 2 and 3 are instant reveal games. The player will scratch the play area. If the player reveals a prize amount, the player wins that amount. A player can win once in each of these two play areas.

(h) Each ticket in this game may win up to 27 times.

(i) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

	Games		Expected Number of Prizes	Expected Value
	2 & 3	Prize	in Game	in Game
\$10		\$10	30,000	\$300,000
	\$10	\$10	20,000	200,000
\$15		\$15	20,500	307,500
	\$20	\$20	6,000	120,000
\$10 + \$10		\$20	7,000	140,000
\$25		\$25	4,200	105,000
	\$15 + \$10	\$25	3,500	87,500
\$10 + \$15		\$25	3,500	87,500
\$50		\$50	750	37,500
	\$25 + \$25	\$50	1,600	80,000
\$25 + \$25		\$50	750	37,500
(\$10 x 4)	\$10	\$50	600	30,000
\$75		\$75	300	22,500
\$20 + \$15 + \$10	\$20 + \$10	\$75	400	30,000
(\$25 x 3)		\$75	300	22,500
(\$10 x 6) + \$15		\$75	200	15,000
\$100		\$100	80	8,000
(\$50 x 2)		\$100	80	8,000
\$50	\$25 + \$25	\$100	100	10,000
(\$25 x 4)		\$100	80	8,000
(\$10 x 10X)		\$100	400	40,000
(\$10 x 10)		\$100	80	8,000
\$500		\$500	20	10,000
$($25 \times 10X) + ($75 \times 2)$				
+ (\$50 x 2)		\$500	40	20,000
(\$25 x 15) + (\$15 x 5)	\$50	\$500	20	10,000
(\$50 x 10)		\$500	20	10,000
(\$50 x 10X)		\$500	30	15,000
(\$100 x 4) + (\$50 x 2)		\$500	20	10,000
				(continued)

Kansas Register ____

\$1,000		\$1,000	10	10,000
(\$100 x 10X)		\$1,000	15	15,000
(\$500 x 2)		\$1,000	10	10,000
$(\$20 \times 10) + (\$50 \times 8) +$				
$(\$100 \times 2) + (\$25 \times 5)$	\$25 + \$50	1,000	20	20,000
\$10,000		\$10,000	2	20,000
(\$500 x 10X) + (\$100 x				
$10) + (\$1,000 \times 4)$		\$10,000	2	20,000
\$75,000		\$75,000	3	225,000
TOTAL			100,632	\$2,099,500
101111			100,002	φ_,0,0,000

(k) The odds of winning a prize in this game are approximately one in 2.98. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3121. "Nutcracker Sweet" instant ticket lottery game number 396. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Nutcracker Sweet" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3121.

(b) The "prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
FREE	TICKET
\$1 .00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
25.00	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU

(c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FIV	=	\$5.00
TWF	=	\$25.00
FTY	=	\$50.00
HUN	=	\$100.00

(f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(g) "Nutcracker Sweet" is a match three of six prize amounts game. The player will remove the latex covering the play area to reveal six prize amounts. If three of the six prize amounts are identical, the player wins that amount.

(h) Each ticket in this game may win up to one time.

(i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order. (j) The expected number and value of instant prizes in this game shall be as follows:

Get	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	60,000	\$0
3 - \$1.00's	\$1	60,000	60,000
3 - \$2.00's	\$2	48,000	96,000
3 - \$5.00's	\$5	30,000	150,000
3 - \$25.00's	\$25	2,400	60,000
3 - \$50.00's	\$50	1,050	52,500
3 - \$100.00's	\$100	390	39,000
3 - \$1,000.00's	\$1,000	21	21,000
Tech the Halls Promotion	*\$9,732		* 9,732
TOTAL		201,861	\$488,232

*Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 4.46. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3122. "Holiday Treats" instant ticket lottery game number 397. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Holiday Treats" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3122.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a chocolate cookie	CHOCO
Symbol of a shortbread cookie	SHTBRD
Symbol of a gingerbread cookie	GNGRBRD
Symbol of a sugar cookie	SUGAR
Symbol of a peanut butter cookie	PNTBTR
Symbol of an oatmeal cookie	OATMEAL
Symbol of a macaroon	MACARN
Symbol of a raisin cookie	RAISIN
Symbol of an Oreo cookie	OREO
Symbol of a wafer	WAFER
Symbol of a fortune cookie	FORTUNE
Prize Symbols	Captions

Captions
TICKET
ONE\$
TWO\$
FOUR\$
FIVE\$
TEN\$
TWENTY
FORTY
FIFTY
ONE-HUN
FIVE-HUN
THRTHOU

(c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TDT		E T 1
FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FOR	=	\$4.00
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
FRY	=	\$40.00
HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(g) "Holiday Treats" is a match three of six prize amounts game. The player will remove the latex covering the play area to reveal six prize amounts. If three of the six prize amounts are identical, the player wins that amount.

(h) Each ticket in this game may win up to one time.

(i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

Get	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	60,000	\$0
3 - \$1.00's	\$1	75,000	75,000
3 - \$2.00's	\$2	60,000	120,000
3 - \$4.00's	\$4	18,000	72,000
3 - \$5.00's	\$5	10,500	52,500
3 - \$10.00's	\$10	6,000	60,000
3 - \$20.00's	\$20	750	15,000
3 - \$40.00's	\$40	246	9,840
3 - \$100.00's	\$100	120	12,000
3 - \$500.00's	\$500	36	18,000
3 - \$3,000.00's	\$3,000	12	36,000
Tech the Halls Promotion	*\$9,732		*9,732
TOTAL		230,664	\$480,072

*Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 3.90. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3123. "Twas The Knot Before Christmas" instant ticket lottery game number 398. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Twas The Knot Before Christmas" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3123.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THREE
04	FOUR

05	FIVE
06	SIX
07	SEVEN
08	EIGHT
09	NINE
10	TEN
11	ELEVEN
12	TWELVE
Symbol of a Christmas tree	
Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$4.00	FOUR\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
	TAATAT
50.00	FIFTY

(c) For this game, a play symbol shall appear in each of 11 play spots within the play area or areas.

FIVE-HUN

FORTHOU

\$500

\$4000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FOR	=	\$4.00
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
FTY	=	\$50.00
HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(g) "Twas The Knot Before Christmas" is a key number match game. The player will remove the latex covering the play area to reveal one "WINNING NUMBER," five "YOUR NUMBERS," and five prize amounts. If the player matches the "WINNING NUMBER" to any of the "YOUR NUMBERS," the player wins the prize shown below that number. If the player reveals a "CHRISTMAS TREE" symbol, the player wins double the prize amount shown instantly.

(h) Each ticket in this game may win up to five times.

(i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

(continued)

		Expected	
		Number of	Expected
		Prizes	Value in
Get	Prize	in Game	Game
Free Ticket	Free Ticket	60,000	\$0
\$1	\$1	76,800	76,800
\$2	\$2	27,000	54,000
\$4	\$4	7,200	28,800
\$2 DBL	\$4	7,200	28,800
(\$1 x 4)	\$4	7,200	28,800
\$5	\$5	2,820	14,100
\$2 + \$2 + \$1	\$5	2,850	14,250
(\$1 x 5)	\$5	2,850	14,250
\$1 + \$2 DBL	\$5	2,850	14,250
\$10	\$10	1,200	12,000
(\$2 x 5)	\$10	1,200	12,000
\$1 + \$4 + \$5	\$10	1,200	12,000
\$5 DBL	\$10	1,200	12,000
\$20	\$20	690	13,800
(\$10 x 2)	\$20	705	14,100
\$10 DBL	\$20	750	15,000
(\$5 x 4)	\$20	690	13,800
\$50	\$50	210	10,500
\$20 DBL + \$10	\$50	210	10,500
(\$10 x 5)	\$50	210	10,500
\$100	\$100	30	3,000
(\$20 x 3) + \$20 DBL	\$100	30	3,000
(\$100 x 5)	\$500	30	15,000
\$4,000	\$4,000	12	48,000
Tech The Halls Promotion	*\$9,732		* 9,732
TOTAL		205,137	\$488,982

DBL - denotes doubler symbol

*Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 4.39. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3124. "2012 Tripler" instant ticket lottery game number 399. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "2012 Tripler" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3124.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play and Prize Symbols	Captions
FREE	TICKET
\$1 .00	ONE\$
\$3.00	THR\$
\$5 ^{.00}	FIVE\$
\$9 .00	NINE\$
10.00	TEN\$
15.00	FIFTEEN
30.00	THIRTY
90.00	NINETY
\$100	ONE-HUN
\$300	THR-HUN
\$3000	THRTHOU
3X	TRIPLE

(c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
THR	=	\$3.00
NIN	=	\$9.00
FTN	=	\$15.00
TRY	=	\$30.00
NTY	=	\$90.00
THH	=	\$300.00

(f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(g) The "2012 Tripler" ticket is a match three of six prize amounts or a match two prize amounts plus a "3X" symbol to win triple the prize amounts. A player will remove the latex covering the play area to reveal six prize amounts or five prize amounts and a "3X" symbol. If the player matches three like prize amounts, the player wins that amount. If the player matches two like prize amounts plus a "3X" symbol, the player wins triple the prize amount.

(h) Each ticket in this game may win up to one time.

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	40,000	\$0
3 - \$1.00's	\$1	50,000	50,000
2 - \$1.00's & (T)	\$3	20,300	60,900
3 - \$3.00's	\$3	20,200	60,600
2 - \$3.00's & (T)	\$9	3,800	34,200
3 - \$9.00's	\$9	3,500	31,500
2 - \$5.00's & (T)	\$15	1,120	16,800
3 - \$15.00's	\$15	1,120	16,800
2 - \$10.00's & (T)	\$30	222	6,660
3 - \$30.00's	\$30	222	6,660
2 - \$30.00's & (T)	\$90	66	5,940
3 - \$90.00's	\$90	66	5,940
2 - \$100.00's & (T)	\$300	20	6,000
3 - \$300.00's	\$300	20	6,000
3 - \$3,000's	\$3,000	6	18,000
TOTAL		140,662	\$326,000

(k) The odds of winning a prize in this game are approximately one in 4.27. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3125. "Holiday Hounds, Kitty Claus" instant ticket lottery game number 400. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Holiday Hounds, Kitty Claus" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3125.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of some holly	HOLLY

Kansas Register __

Symbol of a hat Symbol of a wreath Symbol of a candle Symbol of a poinsettia Symbol of a bow Symbol of a nutcracker Symbol of a nutcracker Symbol of a reindeer Symbol of a reindeer Symbol of a stocking Symbol of a stocking Symbol of a stocking Symbol of a star Symbol of a star Symbol of a star Symbol of a holiday tree Symbol of a holiday tree Symbol of a candy cane Symbol of a scarf Symbol of a gift Symbol of a candy cane MAYBE NEXT TIME	HAT WREATH CANDLE PNSETA BOW NUTCKR REINDR ORNMNT STKING STAR LIGHTS TREE MITTEN CANE SNWFLK BELL SCARF GIFT WIN
GOOD LUCK	
Prize Symbols FREE \$2.00 \$5.00 10.00 20.00 25.00 50.00 75.00 \$100 \$1000 \$10000	Captions TICKET TWO\$ FIVE\$ TEN\$ TWENTY TWEN-FIV FIFTY SVTYFIV ONE-HUN ONETHOU 10-THOU

(c) For this game, a play symbol shall appear in each of 27 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 499.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
TWO	=	\$2.00
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
TWF	=	\$25.00
FTY	=	\$50.00
STF	=	\$75.00
HUN	=	\$100.00

(f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(g) "Holiday Hounds, Kitty Claus" is a key number match game with an instant reveal feature. The player will remove the latex covering the play area to reveal two "HOLIDAY SYMBOLS" and 12 "YOUR SYMBOLS" with a prize amount below each of the "YOUR SYMBOLS." If a player matches any of the "YOUR SYMBOLS" to any of the "HOLIDAY SYMBOLS," the player wins the prize shown below that symbol. If the player reveals a "CANDY CANE" symbol, the player wins that prize amount instantly. A player can win up to 12 times in this play area.

In the bonus instant win play area, the player will scratch the play area. If the player reveals a prize amount, the player wins that amount. A player can win once in this play area.

(h) Each ticket in this game may win up to 13 times.

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

			Expected Number of Prizes	Expected Value
Game 1	Game 2	Prize	in Game	in Game
Free Ticket		Free Ticket	40,000	\$0
\$2		\$2	47,500	95 <i>,</i> 000
	\$5	\$5	8,200	41,000
\$5		\$5	15,000	75,000
\$10		\$10	4,800	48,000
(\$2 x 4)	\$2	\$10	4,800	48,000
(\$5 x 2)		\$10	4,800	48,000
\$20		\$20	1,000	20,000
	\$20	\$20	1,000	20,000
(\$10 x 2)		\$20	1,000	20,000
(\$5 x 4)		\$20	1,000	20,000
(\$2 x 5) + (\$5 x 2)		\$20	1,200	24,000
\$25		\$25	800	20,000
(\$2 x 10)	\$5	\$25	1,000	25,000
\$20 + \$5		\$25	800	20,000
(\$5 x 5)		\$25	800	20,000
\$50		\$50	200	10,000
\$25	\$25	\$50	300	15,000
(\$10 x 5)		\$50	200	10,000
(\$2 x 5) + (\$5 x 6) + \$5	\$5	\$50	300	15,000
\$75		\$75	40	3,000
(\$5 x 11) + \$10	\$10	\$75	50	3,750
\$25 + \$50		\$75	46	3,450
(\$25 x 2)	\$25	\$75	50	3,750
\$100		\$100	12	1,200
(\$50 x 2)		\$100	12	1,200
(\$25 x 4)		\$100	12	1,200
(\$5 x 5) + (\$10 x 7)	\$5	\$100	12	1,200
(\$10 x 5) + (\$25 x 2)		\$100	12	1,200
\$1,000		\$1,000	8	8,000
\$10,000		\$10,000	6	60,000
Tech the Halls Promotion	on	*\$12,976		*12,976
TOTAL			134,960	\$694,926

*Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 4.45. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3126. "Holiday Countdown" instant ticket lottery game number 401. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Holiday Countdown" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3126.

(b) The "play and prize symbols" and "captions" for this game are as follows:

(continued)

Kansas Register

D 1 C 1 1	
Play Symbols	Captions
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSVN
38	THREGT
39	THRNIN
40	FORTY
41	FRTONE
42	FRTTWO
43	FRTTHR
44	FRTFOR
45	FRTFIV
46	FRTSIX
47	FRTSVN
48	FRTEGT
49	FRTNIN
50	FIFTY
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
Symbol of a santa	WIN
Symbol of a snowman	DBL
Prize Symbols	Captions
\$5 ^{.00}	FIVE\$

i iiize oʻyiiioʻolo	cuptions
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVTHOU
\$25000	25-THOU

(c) For this game, a play symbol shall appear in each of 52 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FIV	=	\$5.00
TEN	=	\$10.00
FTN	=	\$15.00
TWF	=	\$25.00
FTY	=	\$50.00
STF	=	\$75.00

HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(g) "Holiday Countdown" is a key number match game. The player will remove the latex covering the play area to reveal four "WINNING NUMBERS," 24 "YOUR NUMBERS," and 24 prize amounts. If a player matches any of the "YOUR NUMBERS" to any "WINNING NUMBER," the player wins the prize shown below that number. If the player reveals a "SANTA" symbol, the player wins that prize automatically. If the player reveals a "SNOWMAN" symbol, the player wins double that prize.

(h) Each ticket in this game may win up to 24 times.

(i) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number	Expected
		of Prizes	Value
	Prize	in Game	in Game
\$5	\$5	36,000	\$180,000
\$10	\$10	8,000	80,000
\$5 + \$5	\$10	8,000	80,000
\$5 DBL	\$10	10,000	100,000
\$15	\$15	4,000	60,000
\$5 + \$10	\$15	4,000	60,000
(\$5 x 3)	\$15	4,000	60,000
\$5 + (\$5 DBL)	\$15	6,000	90,000
\$25	\$25	550	13,750
\$10 + \$15	\$25	600	15,000
\$5 + (\$10 DBL)	\$25	600	15,000
(\$5 x 5)	\$25	600	15,000
\$50	\$50	150	7,500
(\$5 x 10)	\$50	150	7,500
(\$10 x 2) + (\$15 DBL)	\$50	205	10,250
\$25 DBL	\$50	150	7,500
\$10 + \$15 + \$25	\$50	150	7,500
\$75	\$75	80	6,000
(\$5 x 15)	\$75	80	6,000
\$5 + \$10 + \$15 + \$25 + (\$10 DBL)	\$75	80	6,000
(\$5 x 10) + \$10 + \$15	\$75	80	6,000
\$100	\$100	20	2,000
(\$5 x 20)	\$100	20	2,000
(\$10 x 10)	\$100	20	2,000
(\$5 x 11) + (\$10 x 2) + \$25	\$100	20	2,000
\$10 + \$15 + \$25 + \$50	\$100	20	2,000
\$500	\$500	6	3,000
$(\$10 \times 10) + (\$25 \times 12) + (\$50 \times 2)$	\$500	6	3,000
(\$25 x 10) + (\$75 x 2) + \$50 DBL)	\$500	7	3,500
\$1,000	\$1,000	2	2,000
$($25 \times 15) + ($50 \times 5) + ($100 \times 3)$			
+ \$75	\$1,000	2	2,000
(\$75 x 2) + \$50 + \$100 + \$500 +			
(\$100 DBL)	\$1,000	3	3,000
(\$100 x 10)	\$1,000	3	3,000
\$5,000	\$5,000	2	10,000
(\$500 x 6) + (\$1,000 x 2)	\$5,000	2	10,000
\$25,000	\$25,000	3	75,000
Tech the Halls Promotion	*\$17,379		*17,379
TOTAL		83,611	\$974,879

*Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 3.59. (Authorized by K.S.A. 2010

Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3127. "Deuces Wild" instant ticket lottery game number 404. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Deuces Wild" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3127.

(b) The "play and prize symbols" and "captions" for this game are as follows:

ine are as follows.	
Play Symbols	Captions
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SEV
8	EGT
9	NIN
10	TEN
J	JAK
Q K	QEN
	KNG
А	ACE
Prize Symbols	Captions
\$5 ^{.00}	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
20.00	TWENTY
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVETHOU
\$25000	25-THOU

(c) For this game, a play symbol shall appear in each of 28 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FIV	=	\$5.00
TEN	=	\$10.00
FTN	=	\$15.00
TWY	=	\$20.00
FTY	=	\$50.00
STF	=	\$75.00
HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(g) "Deuces Wild" is a key symbol match game. The player will remove the latex covering the play area to reveal four "WINNING CARDS" and 12 "YOUR CARDS" with a prize amount below each of the "YOUR CARDS." If the player matches any of the "WINNING CARDS" to any of the "YOUR CARDS," the player wins the prize shown below that symbol. If a player reveals a "2" symbol, the player wins double the prize shown below that symbol.

(h) Each ticket in this game may win up to 12 times.

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

0		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
\$5	\$5	56,000	\$280,000
\$10	\$10	15,000	150,000
\$5 DBL	\$10	15,000	150,000
\$5 + \$5	\$10	15,000	150,000
\$15	\$15	10,000	150,000
\$5 DBL + \$5	\$15	13,000	195,000
(\$5 x 3)	\$15	10,000	150,000
\$20	\$20	2,400	48,000
\$10 + \$10	\$20	2,400	48,000
\$5 DBL + \$10	\$20	4,800	96,000
(\$5 x 4)	\$20	2,400	48,000
\$50	\$50	700	35,000
\$20 DBL + \$10	\$50	1,200	60,000
(\$10 x 5)	\$50	700	35,000
(\$5 x 10)	\$50	700	35,000
\$75	\$75	160	12,000
\$20 + \$20 DBL + \$15	\$75	280	21,000
(\$15 x 5)	\$75	160	12,000
(\$5 x 11) + \$20	\$75	160	12,000
\$100	\$100	40	4,000
(\$50 x 2)	\$100	30	3,000
\$50 DBL	\$100	30	3,000
(\$20 x 5)	\$100	50	5,000
(\$10 x 10)	\$100	50	5,000
(\$5 x 8) + (\$10 x 2) +			
(\$20 x 2)	\$100	60	6,000
\$500	\$500	16	8,000
(\$100 x 5)	\$500	16	8,000
(\$50 x 10)	\$500	24	12,000
\$1,000	\$1,000	6	6,000
(\$500 x 2)	\$1,000	6	6,000
$(\$100 \times 5) + \500	\$1,000	6	6,000
(\$50 x 4) + (\$100 x 8)	\$1,000	6	6,000
\$5,000	\$5,000	4	20,000
(\$1,000 x 5)	\$5,000	4	20,000
\$25,000	\$25,000	6	150,000
TOTAL		150,414	\$1,955,000

(k) The odds of winning a prize in this game are approximately one in 3.99. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3128. "\$75,000 Spectacular" instant ticket lottery game number 405. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "\$75,000 Spectacular" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3128.

(continued)

(b) The "play and prize symbols" and "captions" for this game are as follows:

und guine ure ub tonowo.	
Play Symbols	Captions
	-
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELV
12	TWV
13	TRN
14	FRN
15	FTN
16	SXTN
17	SVTN
18	EGTN
19	NTN
20	TWTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSVN
38	THREGT
39	THRNIN
40	FORTY
Symbol of a stack of money	WIN
Symbol of a star	10TIMES
Prize Symbols	Captions
10.00	TEN\$
15.00	FIFTEEN
20.00	TWENTY
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$10000	10-THOU
ФТГО ОО	

(c) For this game, a play symbol shall appear in each of 68 play spots within the play area or areas.

75-THOU

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TEN	=	\$10.00
FTN	=	\$15.00
TWY	=	\$20.00
TWF	=	\$25.00
FTY	=	\$50.00
STF	=	\$75.00
HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(g) The "\$75,000 Spectacular" ticket features a key number match game. The player will remove the latex covering the play area to reveal 12 "WINNING NUM-BERS" and 28 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS" If the player matches any of the "YOUR NUMBERS" to any "WIN-NING NUMBER," the player wins the prize shown below that number. If the player reveals a "STACK OF MONEY" symbol, the player wins the prize shown automatically. If the player reveals a "STAR" symbol, the player wins 10 times the prize shown instantly.

(h) Each ticket in this game may win up to 28 times.

(i) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$10	\$10	50,000	\$500,000
\$15	\$15	20,500	307,500
\$10 + \$10	\$20	13,000	260,000
\$25	\$25	5,200	130,000
\$10 + \$15	\$25	6,000	150,000
\$50	\$50	1,250	62,500
\$25 + \$25	\$50	1,250	62,500
(\$10 x 5)	\$50	1,200	60,000
\$75	\$75	400	30,000
(\$25 x 3)	\$75	400	30,000
(\$10 x 6) + \$15	\$75	400	30,000
\$100	\$100	150	15,000
(\$50 x 2)	\$100	150	15,000
(\$25 x 4)	\$100	100	10,000
(\$10 x 10X)	\$100	280	28,000
(\$10 x 10)	\$100	100	10,000
\$500	\$500	20	10,000
(\$25 x 10X) + (\$75 x 2)			
+ (\$50 x 2)	\$500	50	25,000
(\$25 x 15) + (\$15 x 5)			
+ \$50	\$500	40	20,000
(\$50 x 10X)	\$500	30	15,000
(\$100 x 4) + (\$50 x 2)	\$500	20	10,000
\$1,000	\$1,000	14	14,000
(\$100 x 10X)	\$1,000	12	12,000
(\$500 x 2)	\$1,000	8	8,000

\$75000

(\$10x6)+(\$20x2)+(\$25x1	0)		
+(\$50x7)+(\$100x3)	\$1,000	20	20,000
\$10,000	\$10,000	2	20,000
(\$500 x 10X) + (\$100 x			
10) + \$1,000 x 4)	\$10,000	2	20,000
\$75 <i>,</i> 000	\$75,000	3	225,000
TOTAL		100,601	\$2,099,500

(k) The odds of winning a prize in this game are approximately one in 2.98. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3129. "Happy Holidays" instant ticket lottery game number 408. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Happy Holidays" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3129.

(b) The "prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
FREE	TICKET
\$1 .00	ONE\$
\$2 ^{.00}	TWO\$
\$5 ^{.00}	FIVE\$
10.00	TEN\$
25.00	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU
Symbol of a reindeer	INSTANT

(c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FIV	=	\$5.00
TEN	=	\$10.00
TWF	=	\$25.00
FTY	=	\$50.00
HUN	=	\$100.00

(f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(g) "Happy Holidays" is a match three of six prize amounts and win that amount or reveal a "REINDEER" symbol and win \$50 instantly. The player will remove the latex covering the play area to reveal six prize amounts. If the player matches three like prize amounts, the player wins that amount. If the player reveals a "REINDEER" symbol, the player wins \$50 instantly.

(h) Each ticket in this game may win up to one time.

(i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

Get	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	60,000	\$0
3 - \$1.00's	\$1	81,000	81,000
3 - \$2.00's	\$2	45,000	90,000
3 - \$5.00's	\$5	15,000	75,000
3 - \$10.00's	\$10	6,000	60,000
3 - \$25.00's	\$25	2,100	52,500
3 - \$50.00's	\$50	1,920	96,000
3 - \$100.00's	\$100	150	15,000
3 - \$1,000.00's	\$1,000	9	9,000
Tech the Halls Promotion	*\$9,732		*9,732
TOTAL		211,179	\$488,232

*Prize amounts for "Tech the Halls" promotion are approximate.

(k) The odds of winning a prize in this game are approximately one in 4.26. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

111-4-3130. "Club Casino" instant ticket lottery game number 406. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Club Casino" commencing on or after August 1, 2011. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3130.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Captions
ONE
TWO
THR
FOR
FIV
SIX
SEV
EGT
NIN
TEN
DBL
WIN\$50
Captions
TEN\$
FIFTEEN
TWENTY
TWEN-FIV
FIFTY
SVTYFIV
ONE-HUN
FIVE-HUN
ONETHOU

(c) For this game, a play symbol shall appear in each of 53 play spots within the play area or areas.

\$10000

\$75000

(continued)

10-THOU

75-THOU

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TEN	=	\$10.00
FTN	=	\$15.00
TWY	=	\$20.00
TWF	=	\$25.00
FTY	=	\$50.00
STF	=	\$75.00
HUN	=	\$100.00
FHN	=	\$500.00

(f) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(g) "Club Casino" is a ticket with five different games. In Game 1, the player will remove the scratch-off material to reveal three "ROWS." Each "ROW" will consist of three symbols. If the player reveals three identical symbols in the same "ROW," the player wins the prize shown for that "ROW." A player can win up to three times in this game play area.

In Game 2, the player will remove the scratch-off material to reveal five "ROLLS." Each roll will consist of two dice and one prize amount. If any one "ROLL" adds up to seven, the player wins the prize shown for that "ROLL." If any one "ROLL" adds up to 11, the player wins double the prize shown for that "ROLL." A player can win up to five times in this game play area.

In Game 3, the player will remove the scratch-off material to reveal two "HOUSE CHIPS" and six "YOUR CHIPS." If the player matches any of the "YOUR CHIPS" to either of the "HOUSE CHIPS," the player wins the prize shown below that matching "CHIP." If the player reveals a "DICE" symbol, the player wins double the prize shown for that symbol. A player can win up to six times in this game play area.

In Game 4, the player will remove the scratch-off material to reveal two "WINNING NUMBERS" and six "YOUR NUMBERS." If the player matches any of the "YOUR NUMBERS" to either of the "WINNING NUM-BERS," the player wins the prize shown below that number(s). A player can win up to six times in this game play area.

To play the "FAST \$50" game, the player will remove the scratch-off material. If the player reveals a "JOKER" symbol, the player wins \$50 instantly. A player can win up to one time in this game play area.

(h) Each ticket in this game may win up to 21 times.

(i) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

		Expected	
		Number	Expected
		of Prizes	Ŵalue
	Prize	in Game	in Game
\$10	\$10	45,000	\$450,000
\$15	\$15	24,050	360,750
\$20	\$20	3,000	60,000
(\$10 x 2)	\$20	3,000	60,000
\$10 DBL	\$20	4,000	80,000
\$25	\$25	5,300	132,500
\$10 + \$15	\$25	6,000	150,000
\$50	\$50	750	37,500
\$50 Fast Cash	\$50	1,200	60,000
\$10 + \$10 DBL + \$10 DBL	\$50	1,200	60,000
(\$10 x 5)	\$50	800	40,000
\$75	\$75	300	22,500
\$25 + \$50 Fast Cash	\$75	500	37,500
(\$25 x 3)	\$75	400	30,000
\$25 + \$50	\$75	300	22,500
(\$10 x 6) + \$15	\$75	400	30,000
\$100	\$100	100	10,000
\$50 DBL	\$100	100	10,000
(\$10 x 2) + \$20 DBL + \$20 DBL	\$100	150	15,000
(\$20 x 5)	\$100	150	15,000
(\$10 x 10)	\$100	200	20,000
\$500	\$500	30	15,000
\$100 DBL + \$100 DBL + \$50 +			,
\$50 Fast Cash	\$500	35	17,500
(\$100 x 5)	\$500	25	12,500
(\$50 x 10)	\$500	30	15,000
$(\$10 \times 7) + (\$20 \times 9) + (\$50 \times 4)$,
+ \$50 Fast Cash	\$500	40	20,000
\$1,000	\$1,000	12	12,000
\$500 DBL	\$1,000	12	12,000
$(\$50 \ge 10) + (\$100 \ge 5)$	\$1,000	14	14,000
$(\$25 \times 10) + (\$50 \times 6) +$	4-/000		,
$(\$100 \times 4) + \50 Fast Cash	\$1,000	14	14,000
\$10,000	\$10,000	2	20,000
\$5,000 DBL	\$10,000	2	20,000
\$75,000	\$75,000	3	225,000
TOTAL	<i></i>		
IUIAL		97,119	\$2,100,250

(k) The odds of winning a prize in this game are approximately one in 3.09. (Authorized by K.S.A. 2010 Supp. 74-8710; implementing K.S.A. 2010 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-5-11, July 13, 2011.)

> Dennis Wilson **Executive Director**

INDEX TO REC

This index lists new, amended tive regulations number of the which more in Temporary reg with a (T) in the mulative index supp

) ADMINISTRATIVE GULATIONS	tions and		<i>inistrative Regula-</i> pplement of the	1-65-1 1-66-1 1-66-2 1-66-3	New New New New	V. 30, p. 44 V. 30, p. 44 V. 30, p. 45 V. 20, p. 45
ts in numerical order the l and revoked administra-		GENCY 1: DEPAR ADMINISTRA	TMENT OF	1-67-1 1-67-2	New New	V. 30, p. 45 V. 30, p. 45 V. 30, p. 45
s and the volume and page	Reg. No.	Action	Register	1-67-3 1-68-1	New New	V. 30, p. 45 V. 30, p. 45
e <i>Kansas Register</i> issue in	1-9-5a	New (T)	V. 30, p. 983	1-68-2	New	V. 30, p. 46
nformation can be found.	1-16-8	Amended	V. 29, p. 676	AGENC	Y 3: KANSAS STAT	E TREASURER
egulations are designated	1-16-15 1-16-18	Amended Amended	V. 29, p. 677 V. 29, p. 677	Reg. No.	Action	Register
ne Action column. This cu-	1-16-18a	Amended	V. 29, p. 678	3-3-2	Amended (T)	V. 29, p. 702
supplements the 2009 Vol-	1-16-20	Amended	V. 29, p. 680	3-3-2	Amended	V. 30, p. 9

Index to Regulations

Reg. No. 4-1-2 4-1-5 4-1-6 4-1-8 4-1-9

4-1-9a 4-1-9b

4-1-11

4-1-13

4-1-14 4-1-17

4-3-47 4-3-47

4-3-48

4-3-49

4-3-50 4-3-51 4-7-213 4-7-716

4-10-1

4-10-1a 4-10-1b 4-10-2a through

4-10-2d

4-10-2e 4-10-2f

through

4-10-2k 4-10-4 4-10-4a

through 4-10-4f 4-10-5a

4-10-6

4-10-6a

4-10-6b

4-10-15 4-10-16

4-10-17 4-13-2

4-13-3 4-13-9

4-13-14 4-13-16 4-13-17

4-13-18 4-13-20

4-13-21

4-13-22

4-13-23

4-13-24 4-13-25 4-13-25b

through 4-13-25h

4-13-25i

4-13-25j 4-13-25k

4-13-251

4-13-30 4-13-33

4-13-62 4-27-1 through

4-27-22

4-27-1 4-28-1

4-28-2 4-28-7 4-28-8

4-28-11 4-28-12

4-28-18

through

4-28-30

Reg. No.

5-1-4

5-1-9

4-13-25m

4-10-7 4 - 10 - 10

Kansas Register

					0
AG	ENCY 4: DEPAR		5-3-23	Amended (T)	
	AGRICULT		5-3-23 5-4-1	Amended Amended	V. 29, p. 1598 V. 29, p. 1476
0.	Action	Register	5-4-1a	New	V. 29, p. 1470 V. 29, p. 1477
	Amended	V. 30, p. 635	5-7-1	Amended	V. 29, p. 653
	Amended Revoked	V. 30, p. 635	5-16-1	Amended (T)	
	Revoked	V. 30, p. 636 V. 30, p. 636	5-16-3	Amended (T)	
	Amended	V. 30, p. 636	5-16-5 5-17-2	Amended (T) Amended	V. 30, p. 1238 V. 29, p. 654
	New	V. 30, p. 636	5-21-4	Amended	V. 29, p. 004 V. 30, p. 369
	New	V. 30, p. 637	5-22-4a	Amended	V. 30, p. 1025
	Revoked Amended	V. 30, p. 637	5-22-4d	Amended	V. 30, p. 1025
	Amended	V. 30, p. 637 V. 30, p. 637	5-22-7	Amended	V. 29, p. 596
	Amended	V. 30, p. 638	5-25-5 5-25-15	Amended Amended	V. 29, p. 1598
	Amended (T)	V. 30, p. 25			V. 29, p. 654
	Amended	V. 30, p. 411			FARY OF STATE
	Revoked Amended	V. 30, p. 411 V. 30, p. 1179	Reg. No.	Action	Register
	Amended	V. 30, p. 411	7-16-1	Amended (T)	· 1
	Amended	V. 30, p. 1179	7-16-1	Amended	V. 29, p. 1281
	Amended	V. 29, p. 1023	AGENCY 9): ANIMAL HE	ALTH DEPARTMENT
•	Amended Amended	V. 29, p. 1023 V. 29, p. 254	Reg. No.	Action	Register
	New	V. 29, p. 254 V. 29, p. 255	9-7-4	Amended (T)	V. 29, p. 703
,	New	V. 29, p. 255	9-7-4	Amended	V. 29, p. 1336
			9-27-1	Amended	V. 29, p. 1337
h I	Revoked	V 20 p 255			ENT OF REVENUE—
L	Amended	V. 29, p. 255 V. 29, p. 255	E	DIVISION OF A	
		··· _· / F · _ = = =	D 11	BEVERAGE (
h	Revoked	V. 29, p. 256	Reg. No.	Action	Register
•	Revoked	V. 29, p. 256	14-6-2a 14-6-3	Revoked Revoked	V. 29, p. 1306 V. 29, p. 1306
L		1	14-6-4	Amended	V. 29, p. 1306 V. 29, p. 1306
h			14-11-1	New	V. 29, p. 1307
	New	V. 29, p. 256-258	14-11-4	New	V. 29, p. 1307
	Amended Revoked	V. 29, p. 258 V. 29, p. 259	14-11-5	Amended	V. 29, p. 1307
L	New	V. 29, p. 259	14-11-6 14-11-7	Amended Amended	V. 29, p. 1307 V. 29, p. 1307
,	New	V. 29, p. 259	14-11-9	Amended	V. 29, p. 1307
	Amended	V. 29, p. 259	14-11-10a	Revoked	V. 29, p. 1307
	New Revoked	V. 29, p. 260 V. 29, p. 260	14-11-10b	Revoked	V. 29, p. 1308
	Amended	V. 29, p. 260 V. 29, p. 260	14-11-10d	Revoked	V. 29, p. 1308
,	Revoked	V. 29, p. 261	14-11-11 14-11-14	Revoked Revoked	V. 29, p. 1633 V. 29, p. 1308
	Amended	V. 29, p. 69	14-11-15	Amended	V. 29, p. 1308
	Amended	V. 29, p. 69	14-11-16	Amended	V. 29, p. 1308
	Amended Amended	V. 29, p. 71 V. 29, p. 71	14-11-22	New	V. 29, p. 1633
	Amended	V. 29, p. 71	14-11-23		
,	Amended	V. 29, p. 72	through 14-11-29	New	V. 29, P. 1308-1310
	Amended Amended	V. 29, p. 72	14-11-27	Revoked	V. 29, p. 1730
	Amended	V. 29, p. 72 V. 29, p. 72	14-13-12	Amended	V. 30, p. 1023
	Revoked	V. 29, p. 72	14-16-25	New	V. 29, p. 1310
	Amended	V. 29, p. 72	14-19-27 14-19-38	Amended New	V. 29, p. 1310 V. 29, p. 1311
	Amended Amended	V. 29, p. 72	14-19-39	New	V. 29, p. 1311 V. 29, p. 1311
ъ	Amenueu	V. 29, p. 1242	14-20-29	Amended	V. 29, p. 1311
ĥ			14-20-40	New	V. 29, p. 1312
h	Amended	V. 29, p. 1243-1245	14-20-41	New	V. 29, p. 1312
1	Revoked	V. 29, p. 1246	14-21-12 14-21-21	Amended New	V. 29, p. 1313 V. 29, p. 1313
j k	Amended Amended	V. 29, p. 1246 V. 29, p. 1246	14-21-22	New	V. 29, p. 1313 V. 29, p. 1313
1	Amended	V. 29, p. 1247	14-23-2	Amended	V. 29, p. 1314
m	New	V. 29, p. 1247	14-23-5	Amended	V. 29, p. 1314
	Amended	V. 29, p. 72	14-23-8	Amended	V. 29, p. 1314
	Amended Amended	V. 29, p. 73 V. 29, p. 73	14-23-10 14-24-1	Amended	V. 29, p. 1315
	michieu	··· =>) p···o	through		
h	New	V. 29, p. 706-720	14-24-6	Revoked	V. 29, p. 1315
	Amended (T)	V. 30, p. 985	AGENCY	16: KANSAS A	TTORNEY GENERAL
	Amended	V. 29, p. 720	Reg. No.	Action	Register
	Amended Amended (T)	V. 29, p. 720 V. 30, p. 985	16-11-1		
	Amended	V. 29, p. 721	through	A 11	V 00 1010 101E
	Amended	V. 29, p. 722	16-11-5	Amended	V. 29, p. 1813-1815
	Amended	V. 29, p. 722	16-11-6 16-11-7	Revoked Amended	V. 29, p. 1816 V. 29, p. 1816
h			16-11-8	Amended	V. 29, p. 1816
	New	V. 29, p. 723-725	AGENO		NMENTAL ETHICS
	ENCY 5: DEPAR		_	COMMIS	
AGF	VICULTURE-DI WATER RESO		Reg. No.	Action	Register
о.	Action	Register	19-6-1	Amended	V. 29, p. 112
	Amended	-	19-22-1 19-23-1	Amended Amended	V. 30, p. 92 V. 30, p. 92
	Amended	V. 29, p. 652 V. 29, p. 653	19-23-1 19-30-4	Revoked	V. 30, p. 92 V. 30, p. 92
		, <u>r</u>			

AGEN	CY 22: STATE F	RE MARSHAL
Reg. No.	Action	Register
22-1-1	Amended	V. 30, p. 46
22-1-2 22-1-3	Amended	V. 30, p. 46
22-1-5	Amended Amended	V. 30, p. 46 V. 30, p. 47
22-10-3	Amended	V. 30, p. 47
22-11-6	Revoked	V. 30, p. 48
22-11-8 22-15-7	Amended Revoked	V. 30, p. 48 V. 30, p. 49
22-18-3	Amended	V. 30, p. 49
22-19-2	Amended	V. 30, p. 1024
22-19-3 22-19-5	Revoked Amended	V. 30, p. 1025 V. 30, p. 1025
		ENT ON AGING
Reg. No.	Action	Register
26-1-1	Amended	V. 30, p. 915
26-1-5	Amended	V. 30, p. 916
26-1-6	Amended	V. 30, p. 916
26-1-7 26-1-8	Revoked New	V. 30, p. 917 V. 30, p. 917
26-2-3	Amended	V. 30, p. 917
26-2-9	Revoked	V. 30, p. 918
26-2-10 26-3-1	New Amended	V. 30, p. 919 V. 30, p. 920
26-3-4	Revoked	V. 30, p. 920 V. 30, p. 921
26-4-1	Amended	V. 30, p. 921
26-4-6		
through 26-4-15	Revoked	V. 30, p. 921
26-4a-1	Revoked	V. 30, p. 921 V. 30, p. 921
26-4a-2	New	V. 30, p. 921
26-5-2 through		
26-5-10	Revoked	V. 30, p. 922
26-8-2	Amended	V. 30, p. 922
26-8-5	Amended	V. 30, p. 922
26-8-8 26-9-1	Amended Amended	V. 30, p. 922 V. 30, p. 922
26-11-1		·····, F···
through	D 1 1	V 20 022
26-11-3 26-39-100	Revoked Amended	V. 30, p. 923 V. 29, p. 1772
26-39-101	Amended	V. 29, p. 1775
26-39-105	Amended	V. 29, p. 1777
26-40-301 through		
26-40-305	New	V. 29, p. 1777-1793
AGENC		ENT OF HEALTH
	AND ENVIRON	
Reg. No.	Action	Register
28-1-27 28-1-30	New New	V. 30, p. 111 V. 30, p. 369
28-1-31	New	V. 30, p. 369 V. 30, p. 370
28-1-32	New	V. 30, p. 370
28-4-92	Amended (T)	V. 29, p. 1348
28-4-92 28-4-370	Amended	V. 29, p. 1705
through		
28-4-379	Revoked	V. 29, p. 1024
28-4-503 28-4-505	Amended Amended	V. 29, p. 1662 V. 29, p. 1662
28-4-514	Amended	V. 29, p. 1663
28-4-520	New	V. 29, p. 1663
28-4-521 28-4-1300	New	V. 29, p. 1663
through		
28-4-1318	New	V. 29, p. 1024-1032
28-16-28g	Amended	V. 30, p. 1023
28-19-200a 28-19-202	New Amended	V. 29, p. 1634 V. 29, p. 1509
28-19-325	New	V. 29, p. 1634
28-19-350	Amended	V. 29, p. 1635
28-19-517 28-19-645a	Amended New (T)	V. 29, p. 1510 V. 30, p. 232
28-19-645a	New	V. 30, p. 1181
28-19-712	New	V. 29, p. 866
28-19-712a		
through 28-19-712d	New	V. 29, p. 867
28-19-713	New	V. 29, p. 867
28-19-713a		•
through 28-19-713d	New	V. 29, p. 867, 868
28-19-713u 28-19-720	Amended	V. 29, p. 807, 808 V. 29, p. 1510
		(continued)

V. 29, p. 1510 (continued)

Vol. 30, No. 38, September 22, 2011

_____ Kansas Register _____

					0			
28-19-728	Revoked	V. 29, p. 1511	28-31-12	Amended	V. 30, p. 416	28-46-1	Amended	V. 29, p. 1138
28-19-728a	nevolæu	v. 2), p. 1011	28-31-13	Amended	V. 30, p. 417	28-46-2a	Amended	V. 29, p. 1138
through			28-31-14	Revoked	V. 30, p. 417	28-46-3		···
28-19-728f	Revoked	V. 29, p. 1511	28-31-15	Revoked	V. 30, p. 417	through		
28-19-735	Amended	V. 29, p. 1511	28-31-16	Revoked	V. 30, p. 417	28-46-22	Amended	V. 29, p. 1139-1141
28-19-750	Amended	V. 29, p. 1511	28-31-100	New	V. 30, p. 417	28-46-27	Amended	V. 29, p. 1141
28-19-750a	Amended	V. 29, p. 1511	28-31-100a	New	V. 30, p. 418	28-46-28	Amended	V. 29, p. 1141
28-21-1	Revoked	V. 29, p. 725	28-31-100d	New	V. 30, p. 418	28-46-29	Amended	V. 29, p. 1141
28-21-6	Revoked	V. 29, p. 725	28-31-100e	New	V. 30, p. 419	28-46-29a	New	V. 29, p. 1142
28-21-7	Revoked	V. 29, p. 725	28-31-100f	New	V. 30, p. 420	28-46-30	Amended	V. 29, p. 1142
28-21-8 28-21-9	Revoked Revoked	V. 29, p. 725	28-31-100p	New	V. 30, p. 420	28-46-30a	New	V. 29, p. 1142
28-21-9	Revoked	V. 29, p. 725 V. 29, p. 726	28-31-100q 28-31-100r	New New	V. 30, p. 420 V. 30, p. 420	28-46-30b 28-46-31	New	V. 29, p. 1144
28-21-10	Revoked	V. 29, p. 726	28-31-1001	New	V. 30, p. 421	28-46-31	Amended Amended	V. 29, p. 1144 V. 29, p. 1144
28-21-20a	Revoked	V. 29, p. 726	28-31-124	New	V. 30, p. 422	28-46-33	Amended	V. 29, p. 1144 V. 29, p. 1145
28-21-21a	Revoked	V. 29, p. 726	28-31-124a	New	V. 30, p. 423	28-46-35	Amended	V. 29, p. 1145 V. 29, p. 1145
28-21-22a	Revoked	V. 29, p. 726	28-31-124b	New	V. 30, p. 423	28-46-40	Amended	V. 29, p. 1145
28-21-23a	Revoked	V. 29, p. 726	28-31-124c	New	V. 30, p. 423	28-46-41	Amended	V. 29, p. 1145
28-21-24a	Revoked	V. 29, p. 726	28-31-124d	New	V. 30, p. 424	28-46-44	Amended	V. 29, p. 1145
28-21-25a	Revoked	V. 29, p. 726	28-31-124e	New	V. 30, p. 424	28-46-45	New	V. 29, p. 1145
28-21-26a	Revoked	V. 29, p. 726	28-31-260	New	V. 30, p. 425	28-53-1	Amended	V. 30, p. 463
28-21-27a	Revoked	V. 29, p. 726	28-31-260a	New	V. 30, p. 426	28-53-2	Amended	V. 30, p. 463
28-21-28a	Revoked	V. 29, p. 726	28-31-261	New	V. 30, p. 426	28-53-4	Amended	V. 30, p. 463
28-21-29a	Revoked	V. 29, p. 726	28-31-261a	New	V. 30, p. 427	28-61-1	Amended	V. 29, p. 419
28-21-30a	Revoked	V. 29, p. 726	28-31-262 28-31-262a	New	V. 30, p. 427	28-61-2	Amended	V. 30, p. 336
28-21-31a 28-21-32a	Revoked Revoked	V. 29, p. 726 V. 29, p. 726	28-31-262a 28-31-263	New New	V. 30, p. 427 V. 30, p. 428	28-61-3	Amended	V. 30, p. 337
28-21-32a 28-21-33a	Revoked	V. 29, p. 726	28-31-263a	New	V. 30, p. 429	28-61-4	Amended	V. 30, p. 337
28-21-34a	Revoked	V. 29, p. 726	28-31-264	New	V. 30, p. 429	28-61-5	Amended	V. 29, p. 420
28-21-35a	Revoked	V. 29, p. 726	28-31-264a	New	V. 30, p. 431	28-61-8	Amended	V. 29, p. 422
28-21-40a	Revoked	V. 29, p. 726	28-31-265	New	V. 30, p. 432	28-72-1 28-72-1a	Revoked	V. 29, p. 357
28-21-41a	Revoked	V. 29, p. 726	28-31-265a	New	V. 30, p. 433	28-72-1a 28-72-1c	New New	V. 29, p. 357 V. 29, p. 357
28-21-42a	Revoked	V. 29, p. 726	28-31-266	New	V. 30, p. 433	28-72-1d	New	V. 29, p. 358
28-21-43a	Revoked	V. 29, p. 726	28-31-267	New	V. 30, p. 434	28-72-1e	New	V. 29, p. 358
28-21-44a	Revoked	V. 29, p. 726	28-31-267a	New	V. 30, p. 434	28-72-1g	New	V. 29, p. 358
28-21-50a	Revoked	V. 29, p. 726	28-31-268	New	V. 30, p. 434	28-72-1h	New	V. 29, p. 358
28-21-51a	Revoked	V. 29, p. 726	28-31-270	New	V. 30, p. 434	28-72-1i	New	V. 29, p. 359
28-21-52a	Revoked	V. 29, p. 726	28-31-270a	New	V. 30, p. 435	28-72-1k	New	V. 29, p. 359
28-21-53a 28-21-54a	Revoked Revoked	V. 29, p. 726 V. 29, p. 726	28-31-273 28-31-279	New New	V. 30, p. 436 V. 30, p. 436	28-72-11	New	V. 29, p. 359
28-21-54a 28-21-55a	Revoked	V. 29, p. 726 V. 29, p. 726	28-31-279 28-31-279a	New	V. 30, p. 438 V. 30, p. 437	28-72-1m	New	V. 29, p. 360
28-21-56a	Revoked	V. 29, p. 726	28-34-126	New (T)	V. 30, p. 1000	28-72-1n	New	V. 29, p. 360
28-21-57a	Revoked	V. 29, p. 726	28-34-127	New (T)	V. 30, p. 1000	28-72-10	New	V. 29, p. 360
28-21-58a	Revoked	V. 29, p. 726	28-34-129	()	1	28-72-1p	New	V. 29, p. 360
28-21-59a	Revoked	V. 29, p. 726	through			28-72-1r	New	V. 29, p. 361
28-21-60a	Revoked	V. 29, p. 726	28-34-144	New (T)	V. 30, p. 1000-1006	28-72-1s 28-72-1t	New New	V. 29, p. 361 V. 29, p. 361
28-21-61a	Revoked	V. 29, p. 726	28-35-1351	Amended	V. 30, p. 195	28-72-1t 28-72-1v	New	V. 29, p. 361 V. 29, p. 361
28-21-62a	Revoked	V. 29, p. 726	28-35-135t	Amended	V. 30, p. 196	28-72-1v 28-72-1x	New	V. 29, p. 361 V. 29, p. 361
28-21-63	Revoked	V. 29, p. 726	28-35-135w	Amended	V. 30, p. 197	28-72-2	Amended	V. 29, p. 361 V. 29, p. 361
28-21-64	Revoked	V. 29, p. 726	28-35-175a	Amended	V. 30, p. 198	28-72-3	Amended	V. 29, p. 362
28-21-70a	Revoked	V. 29, p. 726	28-35-178b	Amended	V. 30, p. 198	28-72-4	Amended	V. 29, p. 362
28-21-71a	Revoked	V. 29, p. 726	28-35-178e	Amended Amended	V. 30, p. 200	28-72-4a	Amended	V. 29, p. 366
28-21-72a	Revoked	V. 29, p. 726	28-35-178j 28-35-180b	Amended	V. 30, p. 201 V. 30, p. 201	28-72-4b	Revoked	V. 29, p. 368
28-21-82			28-35-180D	Amended	V. 30, p. 201 V. 30, p. 203	28-72-4c	Amended	V. 29, p. 368
through 28-21-85	Revoked	V. 29, p. 726	28-35-181e	Revoked	V. 30, p. 203	28-72-5	Amended	V. 29, p. 369
28-23-4	Revoked	V. 29, p. 726	28-35-181j	Amended	V. 30, p. 203	28-72-6	Amended	V. 29, p. 370
28-23-9	Revoked	V. 29, p. 726	28-35-181m		V. 30, p. 204	28-72-6a	New	V. 29, p. 371
28-23-10	Revoked	V. 29, p. 726	28-35-1810	Amended	V. 30, p. 205	28-72-7	Amended	V. 29, p. 373
28-23-20			28-35-192b	Amended	V. 30, p. 206	28-72-7a	New	V. 29, p. 373
through			28-35-192c	Amended	V. 30, p. 206	28-72-8 28-72-9	Amended Amended	V. 29, p. 374 V. 29, p. 375
28-23-24	Revoked	V. 29, p. 726	28-35-192d	Revoked	V. 30, p. 207	28-72-10	Amended	V. 29, p. 376
28-23-26			28-35-192e	Amended	V. 30, p. 207	28-72-10a	New	V. 29, p. 377
through	Deres les d	V 20 - 72(28-35-192g	Amended	V. 30, p. 207	28-72-11	Amended	V. 29, p. 378
28-23-32	Revoked	V. 29, p. 726	28-35-194a	Amended	V. 30, p. 207	28-72-12	Amended	V. 29, p. 378
28-23-34 through			28-35-212a 28-35-216a	Amended Amended	V. 30, p. 208 V. 30, p. 209	28-72-13	Amended	V. 29, p. 379
28-23-36	Revoked	V. 29, p. 727	28-35-225b	New	V. 30, p. 210	28-72-14	Amended	V. 29, p. 379
28-23-41	nevokeu	1. <i>2</i> , p. <i>1</i> 2	28-35-231c	Amended	V. 30, p. 210 V. 30, p. 210	28-72-15	Amended	V. 29, p. 380
through			28-35-242	Amended	V. 30, p. 210	28-72-16	Amended	V. 29, p. 380
28-23-55	Revoked	V. 29, p. 727	28-35-264	Amended	V. 30, P. 210	28-72-17	Amended	V. 29, p. 381
28-23-70	Revoked	V. 29, p. 727	28-35-334	Amended	V. 30, p. 211	28-72-18	Amended	V. 29, p. 382
28-23-71	Revoked	V. 29, p. 727	28-35-346	Amended	V. 30, p. 212	28-72-18a	Amended	V. 29, p. 383
28-23-73	Revoked	V. 29, p. 727	28-35-411	Amended	V. 30, p. 212	28-72-18b	Amended	V. 29, p. 384
28-23-75	Revoked	V. 29, p. 727	28-36-30	Revoked	V. 29, p. 727	28-72-18c 28-72-18d	Amended Amended	V. 29, p. 384 V. 29, p. 385
28-23-78			28-36-31	Revoked	V. 29, p. 727	28-72-18u 28-72-18e	Amended	V. 29, p. 386 V. 29, p. 386
through	D 1 1	V 00 505	28-36-70			28-72-18	Amended	V. 29, p. 387 V. 29, p. 387
28-23-80	Revoked	V. 29, p. 727	through	D 1 1	¥7.00 E0E	28-72-20	Amended	V. 29, p. 387 V. 29, p. 387
28-31-1	Revoked	V. 30, p. 414	28-36-89	Revoked	V. 29, p. 727	28-72-21	Amended	V. 29, p. 387
28-31-2 28-31-3	Revoked Revoked	V. 30, p. 414 V. 30, p. 414	28-36-101			28-72-22	Amended	V. 29, p. 388
28-31-3 28-31-4	Amended	V. 30, p. 414 V. 30, p. 414	through 28-36-109	Revoked	V. 29, p. 727	28-72-51	Amended	V. 29, p. 388
28-31-5	Revoked	V. 30, p. 414 V. 30, p. 415	28-39-162	Revoked	V. 29, p. 1777 V. 29, p. 1777	28-72-52	Amended	V. 29, p. 389
28-31-6	Amended	V. 30, p. 415	28-39-162a	Revoked	V. 29, p. 1777	28-72-53	Amended	V. 29, p. 389
28-31-7	Revoked	V. 30, p. 415	28-39-162b	Revoked	V. 29, p. 1777	4	AGENCY 30: SO	-
28-31-8	Revoked	V. 30, p. 415	28-39-162c	Revoked	V. 29, p. 1777		EHABILITATION	
28-31-8b	Revoked	V. 30, p. 415	28-43-1		*	Reg. No.	Action	Register
28-31-9	Revoked	V. 30, p. 415	through		V. 20	-		e e
28-31-10	Amended	V. 30, p. 415	28-43-11	Revoked	V. 29, p. 1137	30-5-118a	Revoked	V. 29, p. 293

Index to Regulations

Kansas Register

82-4-27 82-4-27a 82-4-27c 82-4-27e 82-4-28 82-4-28a 82-4-28b 82-4-30a 82-4-30a 82-4-31 82-4-32 82-4-33 82-4-35 82-4-35a 82-4-37 82-4-40 82-4-42 82-4-48 82-4-48a 82-4-53 82-4-54 82-4-55 82-4-56a 82-4-57 82-4-58 82-4-62 82-4-63 82-4-65 82-4-77 82-11-4 82-11-10 82-12-7 82-16-1 through 82-16-6 82-17-1 through 82-17-5

Reg. No. 88-24-1 88-28-1 88-28-6 88-28-6 88-29-1 88-29-3 through 88-29-7 88-29-7a 88-29-8 88-29-8c 88-29-9 through 88-29-12 88-29-18 88-29-19 88-29a-5 88-29a-6 88-29a-7 88-29a-7a 88-29a-8 88-29a-8c 88-29a-9 88-29a-10 88-29a-11 88-29a-18 88-29a-19 88-30-1

Reg. No. 91-1-200 through 91-1-204 91-1-230 91-1-231

91-1-232 91-1-235

91-1-236

91-40-1

91-40-27

Reg. No.

92-19-3

92-19-3a

Action

Revoked

New

AGENCY 92: DEPARTMENT OF REVENUE

AG	ENCY 36: DEPART TRANSPORTAT	
Reg. No.	Action	Register
36-39-2	Amended (T)	V. 29, p. 1090
36-39-2	Amended	V. 29, p. 1416
36-39-4	Amended (T)	V. 29, p. 1091
36-39-4 36-39-6	Amended Amended (T)	V. 29, p. 1416 V. 29, p. 1091 V. 29, p. 1416
36-39-6	Amended	V. 29, p. 1091 V. 29, p. 1416
36-42-1		
through	Maru	V 20 m 502 504
36-42-9	New	V. 29, p. 502-504
AGE	NCY 40: KANSAS	
Reg. No.	Action	Register
40-1-22	Amended	V. 30, p. 722
40-1-37	Amended	V. 30. p. 193
40-1-48	Amended	V. 29, p. 1752 V. 30, p. 232
40-3-33 40-3-43	Revoked Amended	V. 30, p. 232 V. 29, p. 1337
40-4-43	New	V. 29, p. 1337 V. 29, p. 703
40-7-26	New	V. 29, p. 1752 V. 29, p. 1753
40-7-27 40-9-23	New New	V. 29, p. 1755 V. 29, p. 1813
40-10-16	New	V. 30, p. 556
	Y 48: DEPARTMEN LOYMENT SECUR OF REVIEW	ITY BOARD
Reg. No.	Action	Register
48-1-1		
through	A	V 20 - 1F 17
48-1-6 48-2-1	Amended	V. 29, p. 15-17
through		
48-2-5	Amended	V. 29, p. 17
48-3-1 48-3-2	Amended Amended	V. 29, p. 18 V. 29, p. 18
48-3-4	Amended	V. 29, p. 18 V. 29, p. 18
48-3-5	Amended	V. 29, p. 18
48-4-1 48-4-2	Amended Amended	V. 29, p. 18 V. 29, p. 18
	CY 49: DEPARTME	
Reg. No.	Action	
Reg. No. 49-55-1	Action	Register
49-55-1 through		Register
49-55-1 through 49-55-12	New	Register V. 29, p. 675, 676
49-55-1 through 49-55-12 AGENC	New Y 50: DEPARTMEN IVISION OF EMPL	Register V. 29, p. 675, 676 JT OF LABOR—
49-55-1 through 49-55-12 AGENCO DI Reg. No.	New Y 50: DEPARTMEN IVISION OF EMPL Action	Register V. 29, p. 675, 676 IT OF LABOR— OYMENT Register
49-55-1 through 49-55-12 AGENCC DI Reg. No. 50-2-21a	New Y 50: DEPARTMEN IVISION OF EMPL Action New (T)	Register V. 29, p. 675, 676 TOF LABOR— OYMENT Register V. 29, p. 701
49-55-1 through 49-55-12 AGENC DI Reg. No. 50-2-21a 50-2-21a	New Y 50: DEPARTMEN IVISION OF EMPL Action New (T) New	Register V. 29, p. 675, 676 IT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a 50-2-21a AGENCY	New Y 50: DEPARTMEN IVISION OF EMPL Action New (T)	Register V. 29, p. 675, 676 TT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TT OF LABOR—
49-55-1 through 49-55-12 AGENC DI Reg. No. 50-2-21a 50-2-21a AGENC DIVISION	New Y 50: DEPARTMEN IVISION OF EMPL Action New (T) New Y 51: DEPARTMEN	Register V. 29, p. 675, 676 TT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TT OF LABOR—
49-55-1 through 49-55-12 AGENCY DIVISION Reg. No. 50-2-21a AGENCY DIVISION Reg. No. 51-9-7	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended	Register V. 29, p. 675, 676 TO F LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TO F LABOR— OMPENSATION Register V. 29, p. 1508
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY DIVISION Reg. No. 51-9-7 AGEN	New Y 50: DEPARTMEN IVISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OMPENSATION Register V. 29, p. 1508 F NURSING
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY DIVISION Reg. No. 51-9-7 AGEN Reg. No.	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C Action	Register V. 29, p. 675, 676 TO F LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TO F LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY DIVISION Reg. No. 51-9-7 AGEN Reg. No. 60-16-105	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 51-9-7 AGEIN Reg. No. 60-16-105 AGENCY	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 51-9-7 AGEN Reg. No. 60-16-105 AGENCY Reg. No.	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN Y 51: DEPARTMEN OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M Action	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register
49-55-1 through 49-55-12 AGENC DI Reg. No. 50-2-21a 50-2-21a AGENC DIVISION Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M	Register V. 29, p. 675, 676 IT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 IT OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 51-9-7 AGEIN Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN Y 51: DEPARTMEN OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M Action Amended Amended Amended Amended	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215
49-55-1 through 49-55-12 AGENC DI Reg. No. 50-2-21a AGENC DIVISION Reg. No. 51-9-7 AGEN Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2 63-6-3	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN Y 51: DEPARTMEN Y 51: DEPARTMEN Y 51: DEPARTMEN Y 51: DEPARTMEN Y 60: BOARD OF Action Revoked 63: BOARD OF M Action Amended Amended Amended Amended	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215
49-55-1 through 49-55-12 AGENC' DI Reg. No. 50-2-21a 50-2-21a AGENC' DIVISION Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2 63-6-3 63-7-1	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN Y 51: DEPARTMEN OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M Action Amended Amended Amended Amended	Register V. 29, p. 675, 676 IT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 IT OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1216
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2 63-6-3 63-7-6 63-7-6	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 29, p. 675, 676 TO F LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TO F LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1216 V. 30, p. 1217
49-55-1 through 49-55-12 AGENC DI Reg. No. 50-2-21a 50-2-21a AGENC DIVISION Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-3 63-7-1 63-7-2 63-7-6 63-7-7	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD OF Action Revoked 63: BOARD OF M Action Amended	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 T OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1216 V. 30, p. 1217 V. 30, p. 1217
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2 63-6-3 63-7-6 63-7-6	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD C Action Revoked 63: BOARD OF M Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OT OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1216 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1218 V. 30, p. 1218
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-16-6 63-4-1 63-6-2 63-6-3 63-7-1 63-7-2 63-7-6 63-7-9 63-7-10 63-7-11	New Y 50: DEPARTMEN VISION OF EMPL Action New (T) New Y 51: DEPARTMEN Y 51: DEPARTMEN N OF WORKERS C Action Amended SNCY 60: BOARD OF M Action Revoked 63: BOARD OF M Action Amended New New	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 OT OF LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1218 V. 30, p. 1218
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-16-6 63-4-1 63-6-2 63-6-3 63-7-1 63-7-2 63-7-6 63-7-9 63-7-10 63-7-11	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD OF Action Revoked 63: BOARD OF M Action Amended Ame	Register V. 29, p. 675, 676 TO F LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TO F LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1218 V. 30, p. 1218 V. 30, p. 1218 V. 30, p. 1218 V. 30, p. 1218
49-55-1 through 49-55-12 AGENCY DI Reg. No. 50-2-21a AGENCY Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-16-6 63-4-1 63-6-2 63-6-3 63-7-1 63-7-2 63-7-6 63-7-9 63-7-10 63-7-11	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD OF Action Revoked 63: BOARD OF M Action Amended Ame	Register V. 29, p. 675, 676 TO F LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TO F LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1218 V. 30, p. 1218 V. 30, p. 1218 V. 30, p. 1218 V. 30, p. 1218
49-55-1 through 49-55-12 Reg. No. 50-2-21a 5 0-2-21a AGENCY Reg. No. 51-9-7 AGEN Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2 63-6-3 63-7-7 63-7-2 63-7-7 63-7-9 63-7-10 63-7-11 AGEN	New Y 50: DEPARTMEN (VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD OF Action Revoked 63: BOARD OF M Action Amended Ame	Register V. 29, p. 675, 676 TO F LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 TO F LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1218 V. 30, p. 1218
49-55-1 through 49-55-12 AGENCC DI Reg. No. 50-2-21a AGENC DIVISION Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-6-2 63-7-7 63-7-6 63-7-7 63-7-6 63-7-7 63-7-7 63-7-10 63-7-11 AGEN Reg. No. 65-4-3	New Y 50: DEPARTMEN VISION OF EMPL Action New (T) New Y 51: DEPARTMEN V OF WORKERS C Action Amended NCY 60: BOARD OF Action Revoked 63: BOARD OF M Action Amended Amen	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 VT OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1218 V. 30, p.
49-55-1 through 49-55-12 AGENC' DI Reg. No. 50-2-21a 50-2-21a AGENC' DIVISION Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-4-1 63-4-1 63-7-1 63-7-2 63-7-6 63-7-10 63-7-10 63-7-11 AGEN Reg. No. 65-4-3 AGEN	New Y 50: DEPARTMEN VISION OF EMPL Action New (T) New Y 51: DEPARTMEN V OF WORKERS C Action Amended NCY 60: BOARD OF Action Amended Am	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 VT OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1218 V. 30, p.
49-55-1 through 49-55-12 AGENC' DI Reg. No. 50-2-21a 50-2-21a 50-2-21a AGENC' DIVISION Reg. No. 60-16-105 AGENCY Reg. No. 63-46 63-4-1 63-6-2 63-7-1 63-7-2 63-7-6 63-7-1 63-7-2 63-7-10 63-7-11 AGEN Reg. No. 65-4-3 AGEN Reg. No.	New Y 50: DEPARTMEN VISION OF EMPL Action New (T) New Y 51: DEPARTMEN N OF WORKERS C Action Amended NCY 60: BOARD OF Action Amended Am	Register V. 29, p. 675, 676 ST OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 ST OF LABOR— OMPENSATION Register V. 29, p. 1508 F NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1217 V. 30, p. 1218 V. 29, p. 990 TECHNICAL NS Register
49-55-1 through 49-55-12 AGENC' DI Reg. No. 50-2-21a 50-2-21a AGENC' DIVISION Reg. No. 51-9-7 AGEI Reg. No. 60-16-105 AGENCY Reg. No. 63-1-6 63-4-1 63-4-1 63-4-1 63-7-1 63-7-2 63-7-6 63-7-10 63-7-10 63-7-11 AGEN Reg. No. 65-4-3 AGEN	New Y 50: DEPARTMEN VISION OF EMPL Action New (T) New Y 51: DEPARTMEN V OF WORKERS C Action Amended NCY 60: BOARD OF Action Amended Am	Register V. 29, p. 675, 676 OT OF LABOR— OYMENT Register V. 29, p. 701 V. 29, p. 1214 VT OF LABOR— OMPENSATION Register V. 29, p. 1508 OF NURSING Register V. 29, p. 1115 ORTUARY ARTS Register V. 30, p. 1215 V. 30, p. 1217 V. 30, p. 1218 V. 30, p.

66-12-1	Amended	V. 29, p. 794
66-14-10	Amended	V. 29, p. 794
AGEN	CY 68: BOARD	OF PHARMACY
Reg. No.	Action	Register
68-1-1b	Amended	V. 29, p. 465
68-2-22	Amended	V. 30, p. 537
68-7-11	Amended	V. 29. p. 1053
68-7-21	New	V. 29, p. 465
68-20-10a	Amended	V. 30, p. 538
68-20-24	New (T)	V. 30, p. 357
68-20-25	New (T)	V. 30, p. 357
68-20-26	New (T)	V. 30, p. 357
68-20-27 68-20-28	New (T)	V. 30, p. 357
68-20-28	New (T) New (T)	V. 30, p. 635 V. 30, p. 635
68-21-1		1.00, p. 000
through		
68-21-7	New	V. 29, p. 1417-1420
68-21-2	Amended	V. 29, p. 1417-1420 V. 30, p. 370
AGENO	Y 71: KANSAS I	DENTAL BOARD
Reg. No.	Action	Register
0	Action	Register
71-5-1		
through	Derrolicad	V 20 m 1502
71-5-6 71-5-7	Revoked	V. 29, p. 1593
through		
71-5-13	New	V. 29, p. 1593-1597
		ACCOUNTANCY
Reg. No.	Action	Register
74-4-8	Amended	V. 29, p. 1636
74-4-9	Amended	V. 29, p. 1638
74-5-2	Amended	V. 29, p. 1638
74-5-101	Amended	V. 29, p. 1639
74-5-202	Amended	V. 29, p. 1639
74-5-203 74-6-2	Amended Amended	V. 29, p. 1639 V. 29, p. 1640
74-11-6	Amended	V. 29, p. 1640 V. 29, p. 1640
74-11-7	Amended	V. 29, p. 1640
74-12-1	Amended	V. 29, p. 1641
74-15-2	Revoked	V. 29, p. 1641
Α	GENCY 81: OFFI	
	CURITIES COM	
Reg. No.	Action	
Reg. No.	Action	Register
81-2-1	Amended	Register V. 30, p. 1048
81-2-1 81-5-21	Amended New	Register V. 30, p. 1048 V. 30, p. 1049
81-2-1 81-5-21 81-20-1	Amended New Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866
81-2-1 81-5-21	Amended New	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866
81-2-1 81-5-21 81-20-1 81-20-2	Amended New Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1	Amended New Revoked Revoked Amended	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2	Amended New Revoked Revoked Amended Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-23-2 81-24-1	Amended New Revoked Revoked Amended Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-2 81-23-1 81-23-2 81-24-1 81-25-1	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-2 81-22-2 81-23-1 81-23-2 81-24-1 81-25-1 81-25-2	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-2 81-22-2 81-22-2 81-23-1 81-23-2 81-25-1 81-25-2 81-25-3	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-23-1 81-23-2 81-24-1 81-25-2 81-25-2 81-25-3 81-26-3	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-2 81-23-2 81-25-1 81-25-3 81-25-3 81-25-3 81-25-3 81-26-3 81-26-3	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-2 81-22-2 81-22-2 81-23-2 81-25-1 81-25-2 81-25-3 81-26-3 81-26-3 81-28-2	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867
81-2-1 81-20-1 81-20-2 81-20-2 81-22-1 81-22-2 81-23-2 81-23-2 81-25-1 81-25-2 81-25-3 81-25-3 81-26-3 81-26-3 81-28-2 81-30-1	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 867
81-2-1 81-20-1 81-20-2 81-20-2 81-22-1 81-22-2 81-23-2 81-23-2 81-25-1 81-25-2 81-25-3 81-25-3 81-26-3 81-26-3 81-28-2 81-30-1	Amended New Revoked Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867
81-2-1 81-5-21 81-20-1 81-20-2 81-22-2 81-22-2 81-22-2 81-23-2 81-25-1 81-25-2 81-25-3 81-25-3 81-26-3 81-26-3 81-26-3 81-28-2 81-30-1 AGEN	Amended New Revoked Amended Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 CORPORATION ION
81-2-1 81-5-21 81-20-2 81-22-2 81-22-2 81-22-2 81-23-2 81-25-1 81-25-2 81-25-3 81-25-3 81-26-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No.	Amended New Revoked Amended Revoked	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 CORPORATION ION Register
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-23-1 81-23-2 81-24-1 81-25-2 81-25-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219	Amended New Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 CORPORATION ION Register V. 29, p. 1099
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-22-2 81-23-2 81-25-3 81-25-3 81-25-3 81-26-3 81-26-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a	Amended New Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 807 V. 30, p. 807
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-2 81-23-2 81-25-3 81-25-3 81-25-3 81-25-3 81-26-3 81-28-1 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120	Amended New Revoked Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 1508
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-23-1 81-23-2 81-24-1 81-25-2 81-25-3 81-26-3 81-26-3 81-28-1 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120 82-3-311a	Amended New Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 30, p. 807 V. 30, p. 807
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-24-1 81-25-2 81-25-2 81-25-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120 82-3-1100	Amended New Revoked Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 1508
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-23-1 81-23-2 81-24-1 81-25-2 81-25-3 81-26-3 81-26-3 81-28-1 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120 82-3-311a	Amended New Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-2 81-23-1 81-25-2 81-25-2 81-25-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-22-1 82-3-101 82-3-1100 through	Amended New Revoked Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-24-1 81-25-2 81-25-2 81-25-3 81-26-3 81-28-2 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-1100 through 82-3-1120 82-4-2 82-4-3a	Amended New Revoked Amended Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190 V. 29, p. 1443 V. 29, p. 1443
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-23-2 81-24-1 81-25-2 81-25-3 81-26-3 82-3-101 82-3-1100 through 82-3-1120 82-4-3a 82-4-3a 82-4-3a 82-4-3a	Amended New Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190 V. 29, p. 1443 V. 29, p. 1444
81-2-1 81-20-1 81-20-2 81-20-2 81-22-1 81-22-2 81-23-2 81-23-2 81-25-3 81-25-3 81-25-3 81-25-3 81-26-3 81-26-3 81-28-1 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120 82-3-311a 82-3-1120 82-3-311a 82-3-1120 82-3-3120 82-4-34 82-4-34 82-4-34	Amended New Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190 V. 29, p. 1443 V. 29, p. 1390
81-2-1 81-20-1 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-23-2 81-23-1 81-23-2 81-24-1 81-25-2 81-25-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-100 through 82-3-1120 82-3-21100 through 82-3-1120 82-4-2 82-4-3a 82-4-3a 82-4-3a	Amended New Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190 V. 29, p. 1443 V. 29, p. 1444 V. 29, p. 1444 V. 29, p. 1444 V. 29, p. 1444
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-24-1 81-25-2 81-25-2 81-26-3 81-26-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-3-100 through 82-3-1100 through 82-3-1100 through 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a	Amended New Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 182-190 V. 29, p. 1443 V. 29, p. 1443 V. 29, p. 1444
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-23-1 81-23-2 81-23-2 81-23-2 81-25-2 81-25-3 81-26-3 82-3-1100 through 82-4-31 82-4-31 82-4-31 82-4-30 82-4-36	Amended New Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 1443 V. 29, p. 1443 V. 29, p. 1443 V. 29, p. 1444
81-2-1 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-22-2 81-23-2 81-25-3 81-25-3 81-25-3 81-25-3 81-25-3 81-26-3 81-28-1 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120 82-3-311a 82-3-1100 82-3-1120 82-3-1120 82-3-1120 82-3-311a 82-3-311a 82-3-311a 82-3-311a 82-3-311a 82-3-3120 82-4-326 82-4-36 82	Amended New Revoked Re	Register V. 30, p. 1048 V. 30, p. 1049 V. 30, p. 866 V. 30, p. 867 V. 29, p. 1508 V. 29, p. 1508 V. 29, p. 181 V. 29, p. 182-190 V. 29, p. 1443 V. 29, p. 1444 V. 29, p. 1444
81-2-1 81-20-1 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-23-1 81-23-2 81-24-1 81-25-2 81-25-3 81-26-3 81-26-3 81-26-3 81-26-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-120 82-3-1120 82-3-1120 82-3-1120 82-4-3a 8	Amended New Revoked New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	RegisterV. 30, p. 1048V. 30, p. 1049V. 30, p. 866V. 30, p. 866V. 30, p. 866V. 30, p. 867V. 29, p. 1508V. 29, p. 1508V. 29, p. 181V. 29, p. 181V. 29, p. 1443V. 29, p. 1443V. 29, p. 1444V. 29, p. 1444V. 29, p. 1445V. 29, p. 1446V. 29, p. 1446V. 29, p. 1446
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-22-2 81-23-1 81-25-2 81-25-2 81-26-3 81-26-3 81-28-2 81-26-3 81-28-2 81-26-3 81-28-2 81-26-3 81-28-2 81-20-1 AGEN Reg. No. 82-3-100 through 82-3-1100 through 82-3-1100 through 82-3-1100 through 82-4-3a 82-4-2a 82-4	Amended New Revoked Re	RegisterV. 30, p. 1048V. 30, p. 1049V. 30, p. 866V. 30, p. 866V. 30, p. 866V. 30, p. 867V. 20, p. 1867ORPORATIONIONRegisterV. 29, p. 1508V. 29, p. 1508V. 29, p. 181V. 29, p. 182-190V. 29, p. 1443V. 29, p. 1444V. 29, p. 1444V. 29, p. 1444V. 29, p. 1445V. 29, p. 1446V. 29, p. 1446
81-2-1 81-2-1 81-20-1 81-20-2 81-22-1 81-22-2 81-23-2 81-23-2 81-25-2 81-25-3 81-25-3 81-25-3 81-26-3 82-3-110 82-3-1100 82-3-1120 82-3-1120 82-3-311a 82-3-1120 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-3a 82-4-2a 82-4-3a 82-4-2a 82-4-3a 82-4-2a 82-4-3a 82-4-2a 82-4-2a 82-4-3a 82-4-2a	Amended New Revoked New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register $V. 30, p. 1048$ $V. 30, p. 1049$ $V. 30, p. 866$ $V. 30, p. 866$ $V. 30, p. 866$ $V. 30, p. 866$ $V. 30, p. 867$ $V. 29, p. 1508$ $V. 29, p. 1443$ $V. 29, p. 1444$ $V. 29, p. 1446$ $V. 29, p. 1446$ $V. 29, p. 1446$ $V. 29, p. 1446$ $V. 29, p. 1447$
81-2-1 81-5-21 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-22-2 81-23-1 81-25-2 81-25-2 81-26-3 81-26-3 81-28-2 81-26-3 81-28-2 81-26-3 81-28-2 81-26-3 81-28-2 81-20-1 AGEN Reg. No. 82-3-100 through 82-3-1100 through 82-3-1100 through 82-3-1100 through 82-4-3a 82-4-2a 82-4	Amended New Revoked Re	RegisterV. 30, p. 1048V. 30, p. 1049V. 30, p. 866V. 30, p. 866V. 30, p. 866V. 30, p. 867V. 20, p. 1867ORPORATIONIONRegisterV. 29, p. 1508V. 29, p. 1508V. 29, p. 181V. 29, p. 182-190V. 29, p. 1443V. 29, p. 1444V. 29, p. 1444V. 29, p. 1444V. 29, p. 1445V. 29, p. 1446V. 29, p. 1446
81-2-1 81-20-1 81-20-2 81-22-1 81-22-2 81-22-1 81-22-2 81-23-2 81-25-3 81-25-3 81-25-3 81-25-3 81-25-3 81-26-3 81-26-3 81-26-3 81-28-2 81-30-1 AGEN Reg. No. 82-1-219 82-3-101a 82-3-101a 82-3-1120 82-3-311a 82-3-311a 82-3-311a 82-3-311a 82-3-311a 82-3-311a 82-3-3120 82-3-320 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-32 82-4-22 82-4-22 82-4-22 82-4-22 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-23 82-4-24	Amended New Revoked Re	Register $V. 30, p. 1048$ $V. 30, p. 1049$ $V. 30, p. 866$ $V. 30, p. 866$ $V. 30, p. 866$ $V. 30, p. 866$ $V. 30, p. 867$ $V. 29, p. 1508$ $V. 29, p. 1443$ $V. 29, p. 1444$ $V. 29, p. 1446$ $V. 29, p. 1447$ $V. 29, p. 1447$

27		
27		
	Amended	V. 29, p. 1447
27a	Amended	V. 29, p. 1448 V. 29, p. 1448 V. 29, p. 1449 V. 29, p. 1449 V. 29, p. 1449
27c	Amended	V. 29, p. 1448
27e	Amended	V. 29, p. 1449
28	Revoked	V. 29, p. 1449
28a	Revoked	V. 29, p. 1449
28b	Revoked	V. 29, p. 1449
30a	Amended (T)	V. 29, p. 1449 V. 29, p. 1449 V. 29, p. 702 V. 29, p. 702
30a	Amended	V. 29, p. 1392
31	Revoked	V. 29, p. 1392 V. 29, p. 1450
32	Amended	V 29 p 1450
33	Amended	V. 29, p. 1450 V. 29, p. 1450 V. 29, p. 1450 V. 29, p. 1450
35	Amended	$V_{29} p_{1450}$
35a	Amended	V. 29, p. 1450
37	Revoked	V 29 p 1450
40		V. 29, p. 1450 V. 29, p. 1450 V. 29, p. 1450 V. 29, p. 1450
	Amended	V. 29, p. 1450
42	Amended	V. 29, p. 1450
48	Amended	V. 29, p. 1451
48a	Amended	V. 29, p. 1451 V. 29, p. 1451 V. 29, p. 1451 V. 29, p. 1452
53	Amended	V. 29, p. 1451
54	Amended	V. 29, p. 1452
55	Amended	V. 29, p. 1452
56a	Amended	V. 29, p. 1452 V. 29, p. 1453
57	Amended	V. 29, p. 1453
58	Amended	V. 29, p. 1453
62	Revoked	V. 29, p. 1453
63	Amended	V. 29, p. 1453 V. 29, p. 1453 V. 29, p. 1453
65	Amended	V. 29, p. 1453
77	Amended	V. 29, p. 1454
-4	Amended	V. 30, p. 1026 V. 30, p. 1030
-10	Amended	V. 30, p. 1030
-7	Amended	V. 30, p. 1085
-1		1
ıgh		
-6	New	V. 29, p. 1598-1601
'-1		× 1
ıgh		
'-5	New	V. 29, p. 1136, 1137
AGEN	ICY 88: BOARD	
No.	Action	Register
-1	Amended	V. 29, p. 1415
-1	Amended	V. 30, p. 193
-6	Amended	V. 30, p. 193 V. 29, p. 408
-6	Amended (T)	V. 30, p. 1047
-1	Amended	V. 30, p. 946
		, F. , 10
-3		
ıgh	Amended	V 30 p 947 948
1-3 1gh 1-7	Amended New	V. 30, p. 947, 948 V. 30, p. 949
1-3 1gh 1-7 1-7a	New	V. 30, p. 947, 948 V. 30, p. 949 V. 30, p. 949
1-3 1gh 1-7 1-7a 1-8	New Amended	V. 30, p. 949 V. 30, p. 949
1-3 1gh 1-7 1-7a 1-8 1-8c	New	V. 30, p. 947, 948 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949
1-3 11gh 1-7 1-7a 1-8 1-8 1-9	New Amended	V. 30, p. 949 V. 30, p. 949
1-3 1gh 1-7 1-7a 1-8 1-8 1-8 1-9 1gh	New Amended New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949
1-3 1gh 1-7 1-7a 1-8 1-8 1-9 1-9 1-12	New Amended New Amended	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949-952
1-3 1gh 1-7 1-7a 1-8 1-8c 1-9 1-12 1-12	New Amended New Amended Amended	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949-952
1-3 19 1-7 1-7 1-7 1-8 1-8 1-8 1-9 1-9 1-12 1-18 1-19	New Amended New Amended Amended Amended	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949-952 V. 30, p. 953 V. 30, p. 953
1-3 agh 1-7 1-7a 1-8 1-8 1-9 agh 1-12 1-18 1-19 1-19 1-19 1-1-5	New Amended New Amended Amended Amended New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 954
1-3 11gh 1-7 1-7a 1-8 1-8 1-8 1-9 1-12 1-18 1-19 1-19 1-19 1-19 1-19	New Amended New Amended Amended New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 954 V. 30, p. 955
1-3 11gh 1-7 1-7 1-7 1-7 1-8 1-8 1-9 1-12 1-18 1-19 1-19 1-19 1-19 1-19 1-19 1-19	New Amended New Amended Amended New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955
1-3 19gh 1-7 1-7a 1-8 1-9 1-18 1-19 1-19 1-19 1-19 1-3 1-7a	New Amended New Amended Amended Amended New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955
1-3 19gh 1-7 1-7a 1-8 1-8 1-9 1-18 1-19 1-18 1-19 1-19 1-	New Amended Amended Amended Amended New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956
1-3 19gh 1-7 1-7 1-8 1-8 1-9 1-18 1-19 1-18 1-19 1-18 1-19 1-4 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7	New Amended New Amended Amended Amended New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956
1-3 195 1-7 1-7 1-7 1-8 1-8 1-8 1-9 1-19 1-19 1-19 1-19 1-5 1-19 1-5 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956
1-3 19gh 1-7 1-7a 1-8 1-8 1-8 1-8 1-9 1-18 1-12 1-18 1-19 1-18 1-19 1-3 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7 1-7	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 957
1-3 195 1-7 1-7a 1-7a 1-7a 1-7a 195 1-12 1-18 1-19 1-18 1-19 1-18 1-19 1-2-7a 1-7a 1-7a 1-7a 1-7a 1-7a 1-7a 1-7a 1	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 958
1-3 1954 1-7 1-7a 1-8 1-8 1-8 1-8 1-8 1-19 1-18 1-19 1-18 1-19 1-18 1-19 1-2 1-2 1-2 1-2 1-2 1-2 1-2 1-2 1-2 1-2	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 959
-3 -3 -4 -7 -7 -7 -7 -7 -7 -7 -7 -7 -7	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 955 V. 30, p. 956 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 960
I-3 Igh I-7 I-7 Ish Ish Ish Ish Ish Ish Ish Ish Ish Ish	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 960 V. 30, p. 194
I-3 Igh I-7 I-7 Ish Ish Ish Ish Ish Ish Ish Ish Ish Ish	New Amended New Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 194 RTMENT OF
I-3 Igh I-7 I-7 Ish Ish Ish Ish Ish Ish Ish Ish Ish Ish	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 194 RTMENT OF
-3 -3 -3 -7 -7 -7 -7 -7 -7 -7 -7 -9 -9 -9 -9 -9 -9 -9 -9 -9 -9	New Amended New Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 194 RTMENT OF
-3 -3 -7 -7 -7 -8 -8 -8 -9 -9 -9 -19 -19 -19 -19 -19 -	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 950 V. 30, p. 959 V. 30, p. 950 V.
-3 -3 -3 -7 -7a -8 -8 -9 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -18 -19 -18 -19 -18 -19 -18 -20 -3 -4 -7 -4 -19 -19 -19 -19 -19 -19 -19 -19	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 950 V. 30, p. 959 V. 30, p. 950 V.
-3 -3 -3 -7 -7a -7a -7a -8 -12 -18 -12 -18 -12 -18 -12 -18 -12 -18 -12 -18 -19 -20 -20 -20 -20 -20 -20 -20 -20	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 959 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 959 V. 30, p. 194 REMENT OF DN Register
-3 -3 -3 -7 -7 -7 -7 -7 -7 -7 -9 -9 -9 -9 -9 -9 -9 -9 -9 -9	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 959 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 959 V. 30, p. 194 REMENT OF DN Register
-3 -3 -3 -7 -7a -8 -8 -9 -9 -9 -9 -9 -12 -18 -12 -18 -19 -1-2 -18 -1-2 -18 -1-2 -18 -1-2 -18 -1-2 -18 -2-3 -2-	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 959 V. 30, p. 959 V. 30, p. 1050 Register V. 30, p. 1050-1057 V. 30, p. 1060
-3 -3 -3 -7 -7a -7a -7a -7a -18 -12 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -18 -18 -19 -18 -18 -18 -19 -18 -18 -19 -18 -18 -18 -19 -18 -18 -18 -18 -19 -18 -18 -18 -18 -18 -18 -18 -18	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 959 V. 30, p. 1050 V. 30, p. 1060
-3 -3 -3 -7 -7 -7 -7 -7 -7 -7 -7 -7 -9 -9 -9 -9 -9 -9 -19 -12 -19 -12 -19 -12 -19 -12 -19 -12 -19 -12 -12 -2 -2 -2 -2 -2 -2 -2 -2 -2 -	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 959 V. 30, p. 1050 V. 30, p. 1060
-3 -3 -3 -4 -7 -7a -4 -7 -7a -7a -9 -9 -9 -9 -9 -9 -9 -9 -9 -9	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 955 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 959 V. 30, p. 959 V. 30, p. 960 V. 30, p. 104 Register V. 30, p. 1060 V. 30, p. 1061 V. 30, p. 1061
-3 -3 -3 -4 -7 -7a -8 -8 -9 -9 -9 -12 -18 -12 -18 -19 -12 -18 -19 -13 -10 -11 -11 -12 -18 -20 -23 -18 -19 -13 -23 -10 -11 -12 -23 -23 -23 -23 -23 -23 -23 -2	New Amended New Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 104 CIMENT OF DN Register V. 30, p. 1060 V. 30, p. 1060 V. 30, p. 1061 V. 30, p. 1063
-3 193 194 -7 -7a -7a -8 -8 -9 195 -12 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -13 -2 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -12 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -19 -18 -18 -19 -18 -18 -18 -18 -18 -18 -18 -18	New Amended New Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 958 V. 30, p. 958 V. 30, p. 958 V. 30, p. 959 V. 30, p. 960 V. 30, p. 194 CIMENT OF DN Register V. 30, p. 1050-1057 V. 30, p. 1060 V. 30, p. 1061 V. 30, p. 1061 V. 30, p. 1063 V. 29, p. 1093
-3 igh -7 -7a -8 -8 -9 igh -12 -18 -19 ia-5 ia-6 ia-7 ia-7a ia-8 ia-8c ia-7a ia-8c ia-7a ia-8 ia-7a ia-8 ia-8c ia-7a ia-8 ia-10 ia-11 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-18 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-12 ia-10 ia-11 ia-11 ia-12 ia-11 ia-12 ia-11 ia-12 ia-11 ia-12 ia-11 ia-12 ia-11 ia-11 ia-12 ia-11 ia-11 ia-12 ia-11 i	New Amended Amended Amended Amended New New New New New New New New New New	V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 949 V. 30, p. 953 V. 30, p. 953 V. 30, p. 953 V. 30, p. 955 V. 30, p. 955 V. 30, p. 955 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 956 V. 30, p. 957 V. 30, p. 957 V. 30, p. 957 V. 30, p. 959 V. 30, p. 104 CIMENT OF DN Register V. 30, p. 1060 V. 30, p. 1060 V. 30, p. 1061 V. 30, p. 1063

1323

Vol. 30, No. 38, September 22, 2011

Register

V. 30, p. 280

V. 30, p. 280

(continued)

Kansas Register _

92-19-3b	New	V. 30, p. 283
92-19-3c	New	V. 30, p. 285
92-19-10	Revoked	V. 30, p. 285
92-19-16a	Amended	V. 30, p. 285
92-19-16b	Revoked	V. 30, p. 286
92-19-40	Revoked	V. 30, p. 286
92-19-42	Revoked	V. 30, p. 286
92-19-49b 92-19-55b	Amended New	V. 30, p. 286 V. 30, p. 287
92-19-550 92-19-59	Amended	V. 30, p. 289
92-19-73	Amended	V. 30, p. 289
92-24-23	Amended	V. 29, p. 1633
92-51-25a	New	V. 29, p. 1281
ACENO	Y 94. COURT (OF TAX APPEALS
Reg. No.	Action	Register
94-2-1		
through		
94-2-21	Revoked	V. 29, p. 1478, 1479
94-3-2	Amended	Ŷ. 30, p. 1213
94-5-1		
through	NT	V 00 14F0 140F
94-5-25	New	V. 29, p. 1479-1485
94-5-8	Amended	V. 30, p. 1213
Ag	ency 97: COMN	AISSION ON
	VETERANS'	AFFAIKS
Reg. No.	Action	Register
97-7-1		
through		
97-7-6	New	V. 29, p. 252-254
٨G	ENCY 99: DEPA	
	RICULTURE—I	
	EIGHTS AND	
Reg. No.	Action	Register
99-25-1	Amended	V. 29, p. 1242
99-25-9	Amended	V. 29, p. 1242
99-25-12	New	V. 29, p. 1242
AGENCY	(100: BOARD C	OF HEALING ARTS
Reg. No.	Action	Register
U U		-
100-11-1 100-29-1	Amended Amended	V. 29, p. 650 V. 29, p. 598
100-29-1	Amended	V. 29, p. 598 V. 29, p. 651
100-55-1	Amended	V. 29, p. 704
100-55-7	Amended	V. 29, p. 651
100-69-12	New	V. 29, p. 704
100-72-2	Amended	V. 29, p. 705
100-73-2	Amended	V. 29, p. 598
AGENO	Y 102: BEHAVI	ORAL SCIENCES
	REGULATORY	
Reg No	Action	Register
Reg. No.		e
102-2-3	Amended	V. 29, p. 340
102-5-3	Amended	V. 30, p. 371
102-7-1	New (T)	V. 30, p. 986
102-7-2 102-7-3	New (T)	V. 30, p. 987
102-7-3	INEW (I)	$V_{20} = 0.097$
		V. 30, p. 987
	New (T)	V. 30, p. 990
102-7-4a	New (T) New (T)	V. 30, p. 990 V. 30, p. 991
102-7-4a 102-7-4b	New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992
102-7-4a 102-7-4b 102-7-5	New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993
102-7-4a 102-7-4b 102-7-5 102-7-6	New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993
102-7-4a 102-7-4b 102-7-5	New (T) New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7	New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a	New (T) New (T) New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10	New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11	New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997
102-7-4a 102-7-5 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-2-11a	New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11	New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-2-11 102-7-11a	New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-12	New (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-11a 102-7-12	New (T) New (T) Ser (T) New (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-11a 102-7-12 IND Reg. No.	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-11a 102-7-12 IND Reg. No. 105-4-1	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-12 INDD Reg. No. 105-4-1 105-4-1	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T) Amended	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1506
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-7a 102-7-10 102-7-10 102-7-11 102-7-11a 102-7-12 IND Reg. No. 105-4-1 105-4-2	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1506 V. 30, p. 1086
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-7a 102-7-9 102-7-10 102-2-11 102-7-12 IND Reg. No. 105-4-1 105-4-1 105-4-2 105-4-3	New (T) New (T) AGENCY 105: E GENTS' DEFEI Action Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1506 V. 30, p. 1086 V. 30, p. 1086
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-11a 102-7-12 INDI Reg. No. 105-4-1 105-4-1 105-4-2 105-4-3 105-5-2	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T) Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1086 V. 30, p. 1086 V. 29, p. 1339
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-12 INDD Reg. No. 105-4-1 105-4-1 105-4-3 105-5-2 105-5-2	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T) Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1339 V. 29, p. 1339
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-11a 102-7-12 INDI Reg. No. 105-4-1 105-4-1 105-4-2 105-4-3 105-5-2	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T) Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1339 V. 29, p. 1339
102-7-4a 102-7-4b 102-7-5 102-7-7 102-7-7 102-7-7a 102-7-10 102-2-11 102-7-10 102-2-11 102-7-12 IND Reg. No. 105-4-1 105-4-1 105-4-2 105-5-2 105-5-2 105-5-3	New (T) New (T) AdgenCY 105: B (GENTS' DEFEI Action Amended (T) Amended (T) Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1086 V. 30, p. 1086 V. 30, p. 1086 V. 29, p. 1339 V. 29, p. 1306
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-7a 102-7-9 102-7-10 102-2-11 102-7-12 IND Reg. No. 105-4-1 105-4-1 105-4-3 105-5-2 105-5-2 105-5-3 105-5-3	New (T) New (T) AGENCY 105: E GENTS' DEFEI Action Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1338 V. 29, p. 1506 V. 30, p. 1086 V. 30, p. 1086 V. 30, p. 1086 V. 29, p. 1506 V. 29, p. 1506 V. 29, p. 1506 V. 29, p. 1506 V. 29, p. 1506
102-7-4a 102-7-4b 102-7-5 102-7-6 102-7-7 102-7-7a 102-7-9 102-7-10 102-2-11 102-7-12 IND Reg. No. 105-4-1 105-4-1 105-4-3 105-5-2 105-5-3 105-5-3 105-5-6 105-5-7	New (T) New (T) AGENCY 105: E IGENTS' DEFEI Action Amended (T) Amended (T) Amended (T) Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1339 V. 29, p. 1506 V. 29, p. 1339 V. 29, p. 1506 V. 29, p. 1339
102-7-4a 102-7-4b 102-7-5 102-7-7 102-7-7 102-7-7a 102-7-8 102-7-9 102-7-10 102-2-11 102-7-11a 102-7-12 INDD Reg. No. 105-4-1 105-4-1 105-4-2 105-5-3 105-5-3 105-5-6 105-5-6	New (T) New (T) Adgency 105: Ef IGENTS' DEFEI Action Amended (T) Amended (T)	V. 30, p. 990 V. 30, p. 991 V. 30, p. 992 V. 30, p. 993 V. 30, p. 993 V. 30, p. 993 V. 30, p. 995 V. 30, p. 995 V. 30, p. 996 V. 30, p. 996 V. 30, p. 997 V. 30, p. 997 V. 30, p. 997 V. 30, p. 999 V. 30, p. 999 SOARD OF NSE SERVICES Register V. 29, p. 1338 V. 29, p. 1338 V. 29, p. 1506 V. 30, p. 1086 V. 30, p. 1086 V. 30, p. 1086 V. 29, p. 1506 V. 29, p. 1506 V. 29, p. 1506 V. 29, p. 1506 V. 29, p. 1506

105-5-8	Amended (T)	V. 29, p. 1340	
105-5-8	Amended	V. 29, p. 1507	А
105-11-1 105-11-1	Amended Amended (T)	V. 29, p. 1507 V. 30, p. 1086	the H
		TE EMPLOYEES	foun Kans
	ALTH CARE C		2001
Reg. No.	Action	Register	52, I regu
108-1-1	Amended (T)		foun
108-1-1 108-1-3	Amended Amended (T)	V. 30, p. 166 V. 29, p. 1342	Kans
108-1-3	Amended	V. 30, p. 168	2006 52, I
108-1-4 108-1-4	Amended (T) Amended	V. 29, p. 1344 V. 30, p. 170	regu
	AGENCY 109: I	-	2009 31,2
		ICAL SERVICES	were
Reg. No.	Action	Register	Reg.
109-1-1a	New (T)	V. 30, p. 138	111-2
109-1-1a 109-5-1	New Amended (T)	V. 30, p. 573 V. 30, p. 138	111-2
109-5-1	Amended	V. 30, p. 573	111-2 111-2
109-5-1a	New (T)	V. 30, p. 139	111-2
109-5-1a 109-5-1b	New New (T)	V. 30, p. 574 V. 30, p. 139	111-2 111-2
109-5-1b 109-5-1b	New (T) New	V. 30, p. 574	thro
109-5-1d 109-5-1d	New (T) New	V. 30, p. 139 V. 30, p. 574	111-2
109-5-1e	New (T)	V. 30, p. 139	111-2 111-2
109-5-1e	New	V. 30, p. 574	111-2
109-5-1f 109-5-1f	New (T) New	V. 30, p. 139 V. 30, p. 574	thro 111-2
109-5-3	Amended	V. 29, p. 1282	111-2
109-5-4 109-5-5	Revoked Amended	V. 29, p. 113 V. 30, p. 1154	111-2
109-5-7a	New (T)	V. 30, p. 139	111-2 throi
109-5-7a	New	V. 30, p. 574	111-2
109-5-7b 109-5-7b	New (T) New	V. 30, p. 140 V. 30, p. 575	111-2 111-2
109-5-7d	New (T)	V. 30, p. 141	111-2
109-5-7d 109-6-1	New Amended	V. 30, p. 576 V. 29, p. 113	111-2
109-6-2	Amended	V. 29, p. 113	111-2 111-2
109-8-1	Amended (T)	V. 30, p. 141	111-2
109-8-1 109-9-1	Amended Amended	V. 30, p. 576 V. 30, p. 1154	111-2 111-2
109-9-4	Amended	V. 30, p. 1154	thro
109-10-1a 109-10-1a	New (T) New	V. 30, p. 141 V. 30, p. 577	111-2
109-10-1b	New (T)	V. 30, p. 142	111-2 throi
109-10-1b 109-10-1d	New New (T)	V. 30, p. 577 V. 30, p. 142	111-2
109-10-1d 109-10-1d 109-10-1e	New	V. 30, p. 577	111-4 throi
109-10-1e	New (T)	V. 30, p. 142	111-4
109-10-1e 109-10-1f	New New (T)	V. 30, p. 577 V. 30, p. 142	111-4 throi
109-10-1f	New	V. 30, p. 577	111-4
109-10-1g 109-10-1g	New (T) New	V. 30, p. 142 V. 30, p. 578	111-4
109-10-3	Amended	V. 30, p. 1155	111-4 throi
109-10-5 109-10-6	Revoked Amended (T)	V. 30, p. 1155 V. 30, p. 143	111-4
109-10-6	Amended (1)	V. 30, p. 578	111-4 throi
109-10-7	New	V. 29, p. 113	111-4
109-11-1 109-11-1a	Amended New (T)	V. 29, p. 1283 V. 30, p. 143	111-4 throi
109-11-1a	New	V. 30, p. 578	111-4
109-11-3 109-11-3a	Amended New (T)	V. 29, p. 1284 V. 30, p. 144	111-4 throi
109-11-3a	New	V. 30, p. 579	111-4
109-11-4	Amended	V. 29, p. 1284	111-4
109-11-6 109-11-6a	Amended New (T)	V. 29, p. 1285 V. 30, p. 144	thro 111-4
109-11-6a	New	V. 30, p. 579	111-4
109-15-1 109-15-2	Amended Amended	V. 30, p. 1155 V. 30, p. 1156	thro 111-4
		ENT OF COMMERCE	111-4
Reg. No.	Action	Register	thro
110-4-1			111-4 111-4
through		V 00 07 07	111-4
110-4-5 110-21-1	Amended	V. 30, p. 25-27	111-4 111-4
through			thro
110-21-5 110-22-1	New	V. 30, p. 411-413	111-4 111-4
through			throu
110-22-5	New (T)	V. 30, p. 984, 985	111-4

AGENCY 111: KANSAS LOTTERY

complete index listing all regulations filed by Kansas Lottery from 1988 through 2000 can be nd in the Vol. 19, No. 52, December 28, 2000 Ind in the Vol. 19, No. 52, December 28, 2000 nsas Register. A list of regulations filed from 11 through 2003 can be found in the Vol. 22, No. December 25, 2003 Kansas Register. A list of gulations filed from 2004 through 2005 can be ind in the Vol. 24, No. 52, December 29, 2005 nsas Register. A list of regulations filed from 16 through 2007 can be found in the Vol. 26, No. December 27, 2007 Kansas Register. A list of gulations filed from 2008 through November 19 can be found in the Vol. 28, No. 53, December 2009 Kansas Register. The following regulations 2009 Kansas Register. The following regulations e filed after December 1, 2009:

		, , ,	
r	Reg. No.	Action	Register
. 138	111-2-30	Amended	V 29 p 215
			V. 29, p. 215
. 573	111-2-230	Amended	V. 30, p. 232
. 138	111-2-231	Amended	V. 30, p. 233
. 573	111-2-232	Amended	V. 29, p. 215
. 139	111-2-233	Amended	V. 29, p. 215
. 574	111-2-234	New	V. 29, p. 746
. 139		INCW	v. 27, p. 740
574	111-2-235		
. 574	through		
. 139	111-2-240	New	V. 29, p. 1214, 1215
. 574	111-2-241	New	Ŷ. 29, p. 1247
. 139	111-2-242	New	V. 29, p. 1247
. 574	111-2-243		-
. 139	through		
. 574	111-2-248	New	V. 29, p. 1512, 1513
1282			
	111-2-247	Amended	V. 30, p. 233
. 113	111-2-248	Amended	V. 30, p. 233
1154	111-2-249		
. 139	through		
. 574	111-2-252	New	V. 30, p. 233, 234
. 140	111-2-249	Amended	V. 30, p. 357
. 575	111-2-253	New	V. 30, p. 241
. 141			
	111-2-254	New	V. 30, p. 241
. 576	111-2-255	Amended	V. 30, p. 358
. 113	111-2-256	New	V. 30, p. 1119
. 113	111-2-257	New	V. 30, p. 1119
. 141	111-2-258	New	V. 30, p. 1182
. 576			
1154	111-2-259	New	V. 30, p. 1182
	111-2-260		
1154	through		
. 141	111-2-263	New	V. 30, p. 1238, 1239
. 577	111-2-264		
. 142	through		
. 577	111-2-269	New	V. 30, p. 1271, 1272
. 142	111-4-2899		1100, p. 12, 1, 12, 2
. 577			
. 142	through	NT	V 20 - 0.14
. 142	111-4-2907	New	V. 29, p. 9-14
. 577	111-4-2908		
. 142	through		
. 577	111-4-2911	New	V. 29, p. 149-152
. 142	111-4-2911a	New	V. 29, p. 152
. 578	111-4-2912		, 1
1155	through		
1155		Maria	V 20 m 152 157
	111-4-2923	New	V. 29, p. 153-157
. 143	111-4-2924		
. 578	through		
. 113	111-4-2930	New	V. 29, p. 216-222
1283	111-4-2931		-
. 143	through		
. 578	111-4-2938	New	V. 29, p. 467-473
1284	111-4-2939	1 CON	1.29, p. 10, 179
. 144			
. 144	through		
. 579	111-4-2948	New	V. 29, p. 569-575
1284	111-4-2949		
1285	through		
. 144	111-4-2984	New	V. 29, p. 746-769
. 579	111-4-2949		···, F·····
1155			
1156	through	NT	V 20 - 74(7(0
1150	111-4-2984	New	V. 29, p. 746-769
RCE	111-4-2985		
	through		
r	111-4-2988	New	V. 29, p. 1180-1183
	111-4-2989	New	V. 29, p. 1216
	111-4-2990	New	V. 29, p. 1217
5_27	111-4-2991		
25-27		New	V. 29, p. 1218
	111-4-2992		
	through		
-413	111-4-3011	New	V. 29, p. 1248-1259
	111-4-3012		-
	through		
, 985	111-4-3022	New	V. 29, p. 1513-1522
,			

Index to Regulations

——— Kansas Register ————

111-4-3023 through			111-303-1 through			AG	ENCY 115: DEPA WILDLIFE ANI	
111-4-3027	New	V. 30, p. 234-237	111-303-5	New	V. 29, p. 87-89	Reg No	Action	
111-4-3028			111-303-3	Amended	V. 30, p. 1244	Reg. No.		Register
through			111-303-4	Amended	V. 30, p. 1244	115-1-1	Amended	V. 30, p. 943
111-4-3031	New	V. 30, p. 241-243	111-303-5	Amended	V. 30, p. 1245	115-2-1 115-2-2	Amended Amended	V. 29, p. 1602 V. 30, p. 331
111-4-3032			111-304-1			115-2-3	Amended	V. 30, p. 331
through	Maria	V 20 m 240 258	through	Nore	V 20 m 80.01	115-2-3a	Revoked	V. 30, p. 1180
111-4-3045 111-4-3046	New	V. 30, p. 249-258	111-304-6 111-305-1	New	V. 29, p. 89-91	115-4-2	Amended	V. 29, p. 408
through			through			115-4-4	Amended	V. 29, p. 658
111-4-3054	New	V. 30, p. 358-364	111-305-6	New	V. 29, p. 474, 475	115-4-4a	Amended	V. 29, p. 659
111-4-3055		, F	111-305-2	Amended	V. 30, p. 1289	115-4-6 115-4-6b	Amended New	V. 29, p. 409 V. 30, p. 332
through			111-305-5	Amended	V. 30, p. 1290	115-4-11	Amended	V. 30, p. 332 V. 30, p. 332
111-4-3072	New	V. 30, p. 1086-1092	111-305-6	Amended	V. 30, p. 1290	115-5-1	Amended	V. 30, p. 944
111-4-3073			111-306-1			115-5-2	Amended	V. 30, p. 945
through			through			115-7-1	Amended	V. 29, p. 1606
111-4-3081	New	V. 30, p. 1119-1126	111-306-6	New	V. 29, p. 1185-1187	115-7-8	Revoked	V. 29, p. 1607
111-4-3082			111-306-4	Amended	V. 29, p.1260	115-7-9	Amended	V. 30, p. 536
through	Maria	V 20 m 1147 1152	111-306-6 111-307-1	Amended	V. 29, p. 1219	115-8-1	Amended	V. 29, p. 1092
111-4-3087 111-4-3088	New	V. 30, p. 1147-1152	through			115-8-13 115-16-3	Amended Amended	V. 30, p. 1180 V. 30, p. 1180
through			111-307-7	New	V. 29, p. 1189-1191	115-16-5	Amended	V. 30, p. 334
111-4-3096	New	V. 30, p. 1182-1187	111-307-4	Amended	V. 30, p. 1246	115-18-7	Amended	V. 29, p. 659
111-4-3097	New	V. 30, p. 1239	111-307-6	Amended	V. 30, p. 1246	115-18-20	Amended	V. 29, p. 1608
111-4-3098	New	V. 30, p. 1240	111-307-7	Amended	V. 30, p. 1247	115-20-7	New	V. 29, p. 659
111-4-3099	New	V. 30, p. 1241	111-308-1			А	GENCY 117: REA	AL ESTATE
111-4-3100		1	through				APPRAISAL E	
through			111-308-7	New	V. 29, p. 1261-1263	Reg. No.	Action	Register
111-4-3116	New	V. 30, p. 1272-1287	111-309-1			0		
111-5-175			through			117-2-1	Amended	V. 29, p. 412
through			111-309-6	New	V. 29, p. 1528-1530	117-2-2 117-3-1	Amended Amended	V. 29, p. 413 V. 29, p. 414
111-5-179	New	V. 29, p. 157-159	111-310-1			117-3-2	Amended	V. 29, p. 414 V. 29, p. 415
111-5-180			through	Now	V 20 p 1520 1522	117-4-1	Amended	V. 29, p. 416
through	Maria	V 20 m 222 228	111-310-6 111-311-1	New	V. 29, p. 1530-1532	117-4-2	Amended	V. 29, p. 417
111-5-194 111-5-181	New Amended	V. 29, p. 222-228 V. 29, p. 1522	through			117-6-1	Amended	V. 29, p. 656
111-5-184	Amended	V. 29, p. 1522 V. 29, p. 1523	111-311-7	New	V. 29, p. 1532-1535	117-6-3	Amended	V. 29, p. 656
111-5-186	Amended	V. 29, p. 1524	111-312-1		···-·/F· ···-	117-7-1	Amended	V. 30, p. 92
111-5-194	Amended	V. 29, p. 1525	through			117-8-1	Amended	V. 29, p. 418
111-5-195	menaeu	v. 27, p. 1020	111-312-8	New	V. 30, p. 239, 240	AG	ENCY 120: KANS	SAS HEALTH
through			111-312-3	Amended	V. 30, p. 1248		POLICY AUTH	
	New	V. 30, p. 1093, 1094	111-312-5	Amended	V. 30, p. 1248	(FOR	MERLY HEALTH	H CARE DATA
111-5-199								
111-5-200	1 cent	v. 66, p. 1656, 1651	111-312-6	Amended	V. 30, p. 1248		GOVERNING I	BOARD)
	1101	v. 66, p. 1696, 1691	111-312-6 111-312-7	Amended	V. 30, p. 1248 V. 30, p. 1096	Reg. No.	GOVERNING I Action	BOARD) Register
111-5-200 through 111-5-205	New	V. 30, p. 1127-1130	111-312-6		V. 30, p. 1248	Reg. No. 120-1-2	Action	Register
111-5-200 through 111-5-205 111-7-75			111-312-6 111-312-7 111-312-8	Amended Amended	V. 30, p. 1248 V. 30, p. 1096	120-1-2	Action Revoked	Register V. 30, p. 1024
111-5-200 through 111-5-205 111-7-75 111-7-243	New	V. 30, p. 1127-1130	111-312-6 111-312-7 111-312-8	Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING	120-1-2	Action Revoked ENCY 121: DEPA	Register V. 30, p. 1024 RTMENT OF
111-5-200 through 111-5-205 111-7-75 111-7-243 through	New Amended	V. 30, p. 1127-1130 V. 30, p. 1287	111-312-6 111-312-7 111-312-8	Amended Amended CY 112: RACIN	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING	120-1-2 AG	Action Revoked ENCY 121: DEPA CREDIT UN	Register V. 30, p. 1024 RTMENT OF IONS
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248	New Amended New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260	111-312-6 111-312-7 111-312-8 AGEN(Reg. No.	Amended Amended CY 112: RACIN COMMIS Action	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register	120-1-2 AG Reg. No.	Action Revoked ENCY 121: DEPA CREDIT UN Action	Register V. 30, p. 1024 RTMENT OF IONS Register
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162	New Amended New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290	120-1-2 AG Reg. No. 121-10-1	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163	New Amended New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8	Amended Amended CY 112: RACIN COMMIS Action Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290	120-1-2 AG Reg. No. 121-10-1	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-164	New Amended New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230	111-312-6 111-312-7 111-312-7 AGENO Reg. No. 112-101-6 112-102-8 112-103-2	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291	120-1-2 AG Reg. No. 121-10-1	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-164 111-9-165	New Amended New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8	Amended Amended CY 112: RACIN COMMIS Action Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292	120-1-2 AG Reg. No. 121-10-1	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-164	New Amended New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291	120-1-2 AG Reg. No. 121-10-1 AG	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHOR	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE ITY Register
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-164 111-9-165 111-9-166	New Amended New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 292 V. 30, p. 292	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No.	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE ITY Register V. 29, p. 1115
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-164 111-9-166 111-9-166	New Amended New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526 V. 29, p. 1526	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-8	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 292 V. 30, p. 292 V. 30, p. 292 V. 30, p. 292	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-163 111-9-163 111-9-164 111-9-165 111-9-167 111-9-168	New Amended New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-104-1 112-104-8	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 GAS HEALTH
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-168 111-9-169 111-9-170 111-9-171	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-104-8 112-104-8 112-104-13	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 295	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-168 111-9-168 111-9-170 111-9-171 111-9-172	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095	111-312-6 111-312-7 111-312-7 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-8 112-103-15 112-104-13 112-104-13 112-104-14	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294 V. 30, p. 297	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No.	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORJ Action New (T) New ENCY 129: KANS POLICY AUTH Action	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH Register Register V. 29, p. 1415
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-167 111-9-168 111-9-168 111-9-169 111-9-170 111-9-171 111-9-172 111-9-173	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153	111-312-6 111-312-7 111-312-7 111-312-8 AGENO 112-101-6 112-102-8 112-103-2 112-103-2 112-103-2 112-103-5 112-103-15 112-104-13 112-104-14 112-104-14	Amended Amended CY 112: RACIN COMMIS Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 23-2-111 AG Reg. No. 129-5-118	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH IORITY Register V. 29, p. 293
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-168 111-9-168 111-9-169 111-9-170 111-9-171 111-9-173 111-15-1	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 1153 V. 30, p. 238	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-4 112-103-5 112-103-15 112-104-1 112-104-13 112-104-14 112-104-15 112-104-16	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 297 V. 30, p. 298	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 GAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 294
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-168 111-9-168 111-9-170 111-9-170 111-9-171 111-9-173 111-15-1	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-104-8 112-104-13 112-104-13 112-104-16 112-104-32	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 295 V. 30, p. 297 V. 30, p. 297 V. 30, p. 297 V. 30, p. 297 V. 30, p. 298 V. 30, p. 298	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118a 129-5-118b	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 296
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-163 111-9-165 111-9-166 111-9-166 111-9-166 111-9-169 111-9-170 111-9-171 111-9-172 111-9-173 111-15-3 111-201-1	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 1153 V. 30, p. 238	111-312-6 111-312-7 111-312-7 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-32 112-105-1	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118a 129-5-118b 129-10-31	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE Register V. 29, p. 1115 V. 29, p. 1415 GAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 296 V. 30, p. 92
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-167 111-9-168 111-9-168 111-9-168 111-9-168 111-9-170 111-9-171 111-9-172 111-9-173 111-15-3 111-201-1 through	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365	111-312-6 111-312-7 111-312-7 Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-14 112-104-15 112-104-15 112-104-12 112-105-1 112-105-1	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 300 V. 30, p. 301	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118a 129-5-118b 129-10-31	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New Amended New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 V. 30, p. 92 INSPECTORS
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-165 111-9-166 111-9-166 111-9-168 111-9-168 111-9-170 111-9-170 111-9-170 111-9-172 111-9-173 111-15-1 111-15-3 111-201-17	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1184 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 1153 V. 30, p. 238	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-5 112-103-8 112-103-15 112-104-13 112-104-13 112-104-16 112-104-16 112-104-32 112-105-2 112-105-2 112-105-3	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 297 V. 30, p. 297 V. 30, p. 297 V. 30, p. 298 V. 30, p. 298 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 23-2-111 AG Reg. No. 129-5-118 129-5-118b 129-5-118b 129-10-31 AGE	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New Amended New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 U. SPECTORS BOARD
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-167 111-9-168 111-9-169 111-9-170 111-9-170 111-9-173 111-15-1 111-15-3 111-15-1 111-201-17 111-201-17	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-104-8 112-104-13 112-104-13 112-104-13 112-104-14 112-104-15 112-104-16 112-104-16	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118a 129-5-118b 129-10-31	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New Amended New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 V. 30, p. 92
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-169 111-9-170 111-9-170 111-9-171 111-9-173 111-15-3 111-201-1 through	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 30, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-32 112-105-1 112-105-2	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 301	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118a 129-5-128a 129-	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New (T) ENCY 129: KANS POLICY AUTH Action Amended New Amended New Amended New NCY 130: HOME REGISTRATION Action New (T)	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORTY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS NOARD Register V. 29, p. 38
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-165 111-9-165 111-9-166 111-9-168 111-9-168 111-9-168 111-9-168 111-9-170 111-9-170 111-9-171 111-9-173 111-15-3 111-201-17 through 111-201-17 111-301-16	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 261 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 278 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-104-8 112-104-13 112-104-13 112-104-13 112-104-14 112-104-15 112-104-16 112-104-16	Amended Amended CY 112: RACIN COMMIS Action Amended Am	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 201 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303 V. 30, p. 304	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 23-2-111 AG Reg. No. 129-5-118a 129-5-118a 129-5-118b 129-5-128b 129-5	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New FOLICY AUTH Action Amended New Amended New Amended New Strain New CY 130: HOME REGISTRATION Action New (T) New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 GAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 30, p. 92 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 567
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-162 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-167 111-9-170 111-9-170 111-9-170 111-9-172 111-9-173 111-15-1 111-15-3 111-15-1 111-201-17 111-301-17 111-301-6	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 30, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79	111-312-6 111-312-7 111-312-7 Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-1 112-105-2 112-105-2 112-105-2 112-106-5	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 201 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303 V. 30, p. 304	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New (T)	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 38
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-165 111-9-165 111-9-166 111-9-168 111-9-168 111-9-168 111-9-168 111-9-170 111-9-170 111-9-171 111-9-173 111-15-3 111-201-17 through 111-201-17 111-301-16	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 261 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 278 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-2 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-1 112-105-2 112-105-3 112-106-1 112-106-5 112-107-3 112-107-5	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118 129-5-118 129-5-118 129-10-31 AGE Reg. No. 130-1-2 130-1-3 130-1-3	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New Mended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New New (T) New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH HORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 38 V. 29, p. 38 V. 29, p. 567
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-163 111-9-165 111-9-166 111-9-167 111-9-168 111-9-169 111-9-170 111-9-170 111-9-173 111-15-1 111-15-3 111-15-1 111-15-3 111-201-17 111-301-1 through 111-301-6 111-301-6 111-301-7	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 261 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 278 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-1 112-105-2 112-105-1 112-105-2 112-106-5 112-106-5 112-106-5 112-107-5 112-107-5 112-107-10	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 304 V. 30, p. 307 V. 30, p. 307 V. 30, p. 308	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New New (T) New New (T) New Amended	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 GAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 38 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-162 111-9-163 111-9-163 111-9-163 111-9-166 111-9-167 111-9-168 111-9-168 111-9-168 111-9-169 111-9-170 111-9-170 111-9-170 111-9-173 111-15-1 111-15-3 111-15-1 111-201-17 111-301-10 111-301-6 111-301-6 111-301-12 111-301-11	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-5 112-103-8 112-103-5 112-103-8 112-104-13 112-104-13 112-104-13 112-104-16 112-104-15 112-104-15 112-105-2 112-105-3 112-105-3 112-106-5 112-106-5 112-106-6 112-107-5 112-107-5 112-107-10 112-107-21	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 300 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 307 V. 30, p. 307 V. 30, p. 308 V. 30, p. 309	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-129-5-118 129-5-5-5-5-5-5-5-5-5-5-5-5-5-5-	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI ACTION New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New New (T) New Amended New (T) New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS NBOARD Register V. 29, p. 38 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 38
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-163 111-9-165 111-9-166 111-9-167 111-9-167 111-9-168 111-9-169 111-9-170 111-9-170 111-9-173 111-15-1 111-15-3 111-15-1 111-15-3 111-201-17 111-301-11 through 111-301-6 111-301-7 through 111-301-11 111-301-11 111-301-11	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 2095 V. 30, p. 2095 V. 30, p. 2095 V. 30, p. 2095 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-104-13 112-104-18 112-104-18 112-104-18 112-104-18 112-104-16 112-104-16 112-104-16 112-104-16 112-106-5 112-106-5 112-106-5 112-106-6 112-107-3 112-107-10 112-107-21 112-107-21	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 293 V. 30, p. 293 V. 30, p. 295 V. 30, p. 297 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 307 V. 30, p. 308 V. 30, p. 309 V. 30, p. 309 V. 30, p. 310	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5-5	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New New (T) New New (T) New Amended	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH DORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS V. 29, p. 38 V. 29, p. 38 V. 29, p. 567 V. 29, p. 568
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-163 111-9-165 111-9-166 111-9-166 111-9-166 111-9-169 111-9-170 111-9-170 111-9-171 111-9-173 111-15-3 111-201-17 111-301-1 through 111-301-6 111-301-7 through 111-301-12 111-301-13 through	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 30, p. 261 V. 30, p. 205 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248 V. 30, p. 1189 	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-2 112-103-4 112-103-5 112-103-15 112-104-18 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-2 112-105-3 112-105-3 112-106-5 112-106-6 112-107-3 112-107-11 112-107-22 112-107-12 112-107-22 112-108-18	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 297 V. 30, p. 298 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303 V. 30, p. 304 V. 30, p. 307 V. 30, p. 309 V. 30, p. 309 V. 30, p. 311	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118a 129-5-118a 129-5-118b 129-10-31 AGE Reg. No. 130-1-2 130-1-2 130-1-2 130-1-2 130-1-3 130-1-4 130-3-1 130-3-1 130-3-1 130-4-1	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New (T) New New (T) New Amended New New (T) New Amended New (T) New New (T) New Amended New (T) New New (T) New Amended New (T) New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH ORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 507 V. 29, p. 567 V. 29, p. 38 V. 29, p. 568 V. 29, p. 567 V. 29, p. 567
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-168 111-9-168 111-9-168 111-9-169 111-9-170 111-9-170 111-9-171 111-15-3 111-201-17 111-301-12 111-301-6 111-301-6 111-301-7 through 111-301-12 111-301-12 111-301-12 111-301-12	New Amended New New New New New New New New New New	V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 2095 V. 30, p. 2095 V. 30, p. 2095 V. 30, p. 2095 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-5 112-103-5 112-103-5 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-1 112-105-2 112-105-1 112-105-2 112-106-1 112-106-5 112-106-5 112-106-5 112-107-5 112-107-10 112-107-10 112-107-22 112-108-18 112-108-36	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 293 V. 30, p. 201 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 304 V. 30, p. 304 V. 30, p. 309 V. 30, p. 310 V. 30, p. 311 V. 30, p. 312	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 130-1-2 130-1-3 130-1-3 130-1-3 130-1-4 130-3-1 130-	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New New (T) New Amended New (T) New New (T)	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH HORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 296 V. 30, p. 92 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 38 V. 29, p. 38 V. 29, p. 567 V. 29, p. 38 V. 29, p. 567 V. 29, p. 568 V. 29, p. 568 V. 29, p. 588 V. 29, p. 588 V. 29, p. 588 V. 29, p. 794 V. 29, p. 39
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-167 111-9-168 111-9-168 111-9-168 111-9-170 111-9-170 111-9-170 111-9-173 111-15-1 111-15-3 111-15-1 111-201-17 111-301-17 111-301-6 111-301-6 111-301-6 111-301-12 111-301-13 through 111-301-13 through 111-301-20 111-301-21	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 30, p. 261 V. 30, p. 205 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248 V. 30, p. 1189 	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-8 112-103-5 112-103-8 112-103-8 112-103-8 112-104-13 112-104-13 112-104-13 112-104-16 112-104-13 112-104-15 112-105-2 112-105-2 112-105-3 112-105-3 112-106-5 112-106-6 112-107-5 112-107-10 112-107-21 112-107-22 112-108-36 112-108-36 112-108-55	Amended Amended CY 112: RACIN COMMIS Action Amended Am	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 297 V. 30, p. 298 V. 30, p. 297 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 307 V. 30, p. 307 V. 30, p. 309 V. 30, p. 310 V. 30, p. 311 V. 30, p. 312 V. 30, p. 313	120-1-2 AG Reg. No. 121-10-1 AGI Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-10-31 AGE Reg. No. 130-1-2 130-1-3 130-1-3 130-1-3 130-1-3 130-1-4 130-3-1 130-4-1 130-4-2 130-4-2	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New Amended New New (T) New New (T) New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 NILE JUSTICE TYY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH OREGISTER V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 38 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 38 V. 29, p. 39
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-167 111-9-168 111-9-168 111-9-169 111-9-170 111-9-170 111-9-173 111-15-1 111-15-3 111-201-17 111-301-13 through 111-301-6 111-301-7 through 111-301-13 through 111-301-21 through 111-301-21 through	New Amended New New New New New New New New New Amended Amended New New Amended Amended New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248 V. 30, p. 1189 V. 30, p. 366-368 	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-15 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-11 112-105-1 112-105-1 112-106-5 112-106-5 112-106-5 112-107-5 112-107-10 112-107-21 112-107-21 112-107-22 112-107-10 112-107-21 112-108-55 112-110-3	Amended Amended CY 112: RACIN COMMIS Action Amended	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 304 V. 30, p. 304 V. 30, p. 307 V. 30, p. 310 V. 30, p. 313 V. 30, p. 313	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 AG Reg. No. 129-5-118 130-1-2 130-1-3 130-1-3 130-1-3 130-1-4 130-3-1 130-	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New New (T) New Amended New (T) New New (T)	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 NILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH HORITY Register V. 29, p. 293 V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 296 V. 30, p. 92 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 38 V. 29, p. 38 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 568 V. 29, p. 568 V. 29, p. 568 V. 29, p. 568 V. 29, p. 38 V. 29, p. 588 V. 29, p. 588 V. 29, p. 794 V. 29, p. 39
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-166 111-9-166 111-9-169 111-9-170 111-9-170 111-9-171 111-9-173 111-15-3 111-201-17 111-301-11 through 111-301-6 111-301-6 111-301-6 111-301-13 through 111-301-21 through 111-301-21 through 111-301-21 through 111-301-21 through 111-301-21 through 111-301-21	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 30, p. 261 V. 30, p. 205 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248 V. 30, p. 1189 	111-312-6 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-2 112-103-8 112-103-15 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-2 112-105-3 112-105-3 112-105-3 112-106-6 112-107-3 112-107-10 112-107-22 112-108-16 112-108-36 112-108-35 112-110-3 112-110-3 112-110-3 112-110-3	Amended Amended CY 112: RACIN COMMIS Action Amended Am	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 293 V. 30, p. 295 V. 30, p. 295 V. 30, p. 297 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 297 V. 30, p. 297 V. 30, p. 297 V. 30, p. 297 V. 30, p. 298 V. 30, p. 297 V. 30, p. 293 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303 V. 30, p. 304 V. 30, p. 304 V. 30, p. 307 V. 30, p. 309 V. 30, p. 310 V. 30, p. 313 V. 30, p. 313 V. 30, p. 314	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 23-2-111 23-2-111 AG Reg. No. 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 130-1-2 130-1-2 130-1-3 130-1-3 130-1-3 130-1-4 130-3-1 130-4-1 130-4-1 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 VILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH IORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 567 V. 29, p. 38 V. 29, p. 39 V. 29, p. 39 V. 29, p. 39 V. 29, p. 569 WITTEE ON
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-165 111-9-166 111-9-166 111-9-167 111-9-168 111-9-168 111-9-168 111-9-170 111-9-170 111-9-170 111-9-172 111-9-173 111-15-1 111-15-1 111-15-1 111-201-17 111-301-17 111-301-6 111-301-6 111-301-6 111-301-12 111-301-12 111-301-21 through 111-301-21 through 111-301-31 111-301-31 111-302-1	New Amended New New New New New New New New New Amended Amended New New Amended Amended New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248 V. 30, p. 1189 V. 30, p. 366-368 	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-2 112-103-5 112-103-5 112-103-5 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-2 112-105-2 112-105-2 112-106-5 112-106-5 112-106-5 112-106-5 112-106-5 112-107-3 112-107-5 112-107-10 112-107-10 112-107-22 112-108-18 112-108-36 112-108-36 112-108-31 112-103-3 112-112-1 112-112-3	Amended Amended CY 112: RACIN COMMIS Action Amended Am	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 293 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303 V. 30, p. 303 V. 30, p. 304 V. 30, p. 307 V. 30, p. 308 V. 30, p. 310 V. 30, p. 313 V. 30, p. 314	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 23-2-111 23-2-111 AG Reg. No. 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 130-1-2 130-1-2 130-1-3 130-1-3 130-1-3 130-1-4 130-3-1 130-4-1 130-4-1 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 VILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH IORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 567 V. 29, p. 38 V. 29, p. 39 V. 29, p. 39 V. 29, p. 39 V. 29, p. 569 WITTEE ON
111-5-200 through 111-5-205 111-7-75 111-7-243 through 111-9-163 111-9-163 111-9-164 111-9-165 111-9-166 111-9-167 111-9-166 111-9-168 111-9-168 111-9-170 111-9-170 111-9-170 111-9-171 111-9-173 111-15-1 111-15-3 111-15-1 111-15-3 111-15-1 111-201-17 111-301-13 through 111-301-20 111-301-20 111-301-21 through 111-301-21 through 111-301-21 through 111-301-21 through	New Amended New New New New New New New New New New	 V. 30, p. 1127-1130 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 184 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 261 V. 30, p. 261 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 1243 V. 30, p. 149 V. 30, p. 366-368 V. 30, p. 1288, 1289 	111-312-6 111-312-7 111-312-8 AGEN0 Reg. No. 112-101-6 112-102-8 112-103-2 112-103-4 112-103-5 112-103-8 112-103-8 112-103-8 112-103-8 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-15 112-106-5 112-106-5 112-106-6 112-107-3 112-107-21 112-107-21 112-107-21 112-108-36 112-108-36 112-108-35 112-110-3 112-112-3 112-112-4	Amended Amended CY 112: RACIN COMMIS Action Amended Am	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 290 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 294 V. 30, p. 295 V. 30, p. 295 V. 30, p. 295 V. 30, p. 297 V. 30, p. 298 V. 30, p. 301 V. 30, p. 303 V. 30, p. 304 V. 30, p. 304 V. 30, p. 307 V. 30, p. 304 V. 30, p. 309 V. 30, p. 310 V. 30, p. 312 V. 30, p. 314 V. 30, p. 314	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 23-2-111 23-2-111 AG Reg. No. 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 129-5-118 130-1-2 130-1-2 130-1-3 130-1-3 130-1-3 130-1-4 130-3-1 130-4-1 130-4-1 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2 130-4-2	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New	Register V. 30, p. 1024 RTMENT OF IONS Register V. 29, p. 675 VILE JUSTICE ITY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH IORITY Register V. 29, p. 293 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD Register V. 29, p. 38 V. 29, p. 567 V. 29, p. 38 V. 29, p. 39 V. 29, p. 39 V. 29, p. 39 V. 29, p. 569 WITTEE ON
111-5-200 through 111-5-205 111-7-75 111-7-75 111-7-243 through 111-7-248 111-9-162 111-9-163 111-9-165 111-9-166 111-9-166 111-9-167 111-9-168 111-9-168 111-9-168 111-9-170 111-9-170 111-9-170 111-9-172 111-9-173 111-15-1 111-15-1 111-15-1 111-201-17 111-301-17 111-301-6 111-301-6 111-301-6 111-301-12 111-301-12 111-301-21 through 111-301-21 through 111-301-31 111-301-31 111-302-1	New Amended New New New New New New New New New Amended Amended New New Amended Amended New	 V. 30, p. 1127-1130 V. 30, p. 1287 V. 30, p. 259, 260 V. 29, p. 229 V. 29, p. 229 V. 29, p. 230 V. 29, p. 769 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1526 V. 29, p. 1527 V. 30, p. 1095 V. 30, p. 1153 V. 30, p. 238 V. 30, p. 365 V. 29, p. 73-79 V. 29, p. 79, 80 V. 30, p. 1243 V. 30, p. 244-248 V. 30, p. 1189 V. 30, p. 366-368 	111-312-6 111-312-7 111-312-7 111-312-8 AGENO Reg. No. 112-101-6 112-102-8 112-103-2 112-103-2 112-103-2 112-103-5 112-103-5 112-103-5 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-104-13 112-105-2 112-105-2 112-105-2 112-106-5 112-106-5 112-106-5 112-106-5 112-106-5 112-107-3 112-107-5 112-107-10 112-107-10 112-107-22 112-108-18 112-108-36 112-108-36 112-108-31 112-103-3 112-112-1 112-112-3	Amended Amended CY 112: RACIN COMMIS Action Amended Am	V. 30, p. 1248 V. 30, p. 1096 V. 30, p. 1096 V. 30, p. 1249 G AND GAMING SION Register V. 30, p. 290 V. 30, p. 290 V. 30, p. 291 V. 30, p. 292 V. 30, p. 293 V. 30, p. 293 V. 30, p. 294 V. 30, p. 295 V. 30, p. 297 V. 30, p. 293 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 301 V. 30, p. 303 V. 30, p. 303 V. 30, p. 303 V. 30, p. 304 V. 30, p. 304 V. 30, p. 307 V. 30, p. 308 V. 30, p. 310 V. 30, p. 313 V. 30, p. 314	120-1-2 AG Reg. No. 121-10-1 AGH Reg. No. 123-2-111 123-2-111 23-2-111 AG Reg. No. 129-5-118 130-1-2 130-1-3 130-1-3 130-1-4 130-4-1 130-4-2 130-4-2 130-4-2 130-5-2 AG	Action Revoked ENCY 121: DEPA CREDIT UN Action Amended ENCY 123: JUVEN AUTHORI Action New (T) New ENCY 129: KANS POLICY AUTH Action Amended New Amended New NCY 130: HOME REGISTRATION Action New (T) New New (T) New	Register V. 30, p. 1024 RTMENT OF Register V. 29, p. 675 VILE JUSTICE TY Register V. 29, p. 1115 V. 29, p. 1415 SAS HEALTH OREGISTER V. 29, p. 293 V. 29, p. 293 V. 29, p. 294 V. 29, p. 293 V. 29, p. 294 V. 29, p. 295 INSPECTORS BOARD V. 29, p. 38 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 567 V. 29, p. 38 V. 29, p. 38 V. 29, p. 38 V. 29, p. 39 V. 29, p. 39 V. 29, p. 39 V. 29, p. 39 V. 29, p. 567 V. 29, p. 39 V. 29, p. 39 V. 29, p. 39 V. 29, p. 569 MITTEE ON OINSURANCE

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594